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1 LIST OF UNDERTAKINGS 1 (9:04am.)
21 Undertaking ............... Pg. 99 2 CHAIRMAN:
32. Undertaking ............... Pg. 123 3 Q. Thank you. Good morning. Adjusting to the
43. Undertaking ............... Pg. 124 4 post election drama that’ s unfolding and will
5 be, | guess, over the next little while. Good
6 morning, Ms. Newman. Are there any
7 preliminary matters before we begin?
8 MS. NEWMAN:
9 Q. Good morning, Chair and Commissioners. Yes, |
10 did want to mention therewas a document
11 circulated the last day which wasthe key
12 performance indicators. There was aresponse
13 to an undertaking from Hydro and there was an
14 inquiry asto the number, that is U-Hydro No.
15 3response. Also, | understand that counsel
16 for Newfoundland Hydro does want to address a
17 couple of preliminary matters. But before we
18 do that | did want to mention that we have a
19 couple of specia visitors here today. |
20 don’'t know if everybody can seethem inthe
21 back there. Mr. Michael Browne and Mr. Jeremy
22 Power are here to observe our proceedings and
23 | thought we should welcome them
24 appropriately.
25 CHAIRMAN:
Page 3 Page 4
1 Q. Oh, absolutely. Welcome. Hope you find the 1 lineon Schedule 4 of the minimum storage
2 proceeding herethis morning of interest. 2 targets, and that’ s Schedule 4 to Mr. Haynes
3 WEel try to make it as interesting as 3 evidence. The specific undertaking related to
4 possible for you in any event. 4 the inputs to determine the shape of the green
5 MR. KENNEDY: 5 line. And | wonder, Mr. O'Reilly, if you
6 Q. Explained it wasn't amurder trial, yet. 6 could bring up Schedule 4, please? We've had
7 CHAIRMAN: 7 some discussion, Mr. Haynes, about this
8 Q. Anyway, welcome. Sit back and relax and 8 particular schedule. And | wonder again if
9 hopefully you'll learn something. We can't 9 you could indicate first what the red lineis
10 promise that, but hopefully you will. Good 10 there on that?
11 morning, Ms. Greene. 11  A.Theredlineisbasically the maximum storage
12 GREENE. Q.C:: 12 that we can physically contain in any
13 Q. Good morning, Mr. Chair, Commissioners. There 13 particular given time, given the, you know,
14 were three undertakings provided on Tuesday, 14 the PMF or the peak maximum flood expectations
15 October 21st and Hydro is ina position to 15 or projections for the idand. So it's
16 respond tothem at this time. And I've 16 basically the physical implications of the
17 discussed this with counsel for the Industrial 17 reservoirs, the heights of the dams and so on.
18 Customers and he has agreed, aswe have done 18 Q. Soif we get--the water is near the red line,
19 inthe past, todoit inthismanner. The 19 Hydro staff get nervous, is that correct?
20 first undertaking is found on page 138 of the 20 A.Wadll, wearevery nervous because, you know,
21 transcript of October 21st, and it relates to 21 any kind of achangein the system at al can
22 the minimum storage target illustrated on 22 precipitate a spill from the reservoir system.
23 Schedule 4 to Mr. Haynes' evidence. And you 23 Q. Thegreenline, first what does the green line
24 can see the specific undertaking is provided 24 represent?
25 there at line 19, and it relates to the green 25  A. Thegreen lineisthe minimum storage target
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1 MR. HAYNES: 1 dictated by the actual firm forecast load that
2 in terms of energy that all our mgor 2 we anticipated seeing. In fact, that’s avery
3 reservoirs on the Island Interconnected System 3 big driver of the shape, it'sthe--you know,
4 can contain at any given particular timein 4 it'sthe--our planned firm load commitments
5 order for us to meet the firm sequence. So 5 during any particular time given all the other
6 it'sthe amount of energy that we target to 6 circumstances. Aswe add generation sources
7 havein storageinthe hydraulic reservoirs 7 such as Granite Cana or power purchase
8 that along with the Holyrood and the NUG 8 agreements, such as the NUGS, it doesimpact
9 purchase contracts will allow us to meet the 9 that particular curve. And if we were to--for
10 firm sequence which we anticipate could start 10 instance, when we changed the Bay D’Espoir
11 at any--you know, it’s planned to start at any 11 runners, it would have an impact or if we up--
12 particular time. 12 you know, if we upgraded Holyrood unit one and
13 Q. Andwhat arethe inputsthat determine the 13 twos, wedid quite awhileago, they also
14 shape of that green line? 14 impact that shape. And it does change from
15 A. Thereare several. Theinflow sequences that 15 year toyear, particularly during my load
16 determine the target are by definition, 16 forecast. Andwe did present inic-160 a
17 obviously as we mentioned a couple of times, a 17 series of curves from 1994 to 2002. And if
18 particularly dry sequence which was basically 18 you wereto refer to those, it actually does
19 1958, late 1958 to the spring of 1961. And 19 show variation from year to year of that green
20 there were some other lesser significant but 20 line.
21 noteworthy dry sequences since then that had 21 Q. And the blue line and the magenta line
22 some influence on that curve. The shape of 22 represent 2002 and 2003 to date where the
23 the minimum storage curveis dictated by the 23 storages have been, isthat correct?
24 pattern of inflows experienced during the vary 24  A.Thebluelineis 2002 and the magentalineis
25 low inflow sequences. And it'salso largely 25 actually up until April. And there was an RFI
Page 7 Page 8
1 requested by Newfoundland Power which updated 1 lineis not the same as a guide curve for the
2 it to July or August. | forget the number; | 2 system, isit?
3 apologize. But the magentalineis our track 3 A.No,it'snot.
4 record this year. 4 Q. The next undertaking that we' d like to address
5 Q. Now, in hiscross-examination Mr. Hutchings 5 isfound on page 154 of the transcript, and |
6 suggested that the minimum storage target 6 don't think we need to go to it, but it
7 green line there would be the sum of 7 relates to the load growth. Andfirst | did
8 individual reservoir target lines. Isthat 8 want torefer to page 33 of Mr. Haynes
9 correct? 9 evidence, line 6. Beginning there on line 6,
10  A. No, that’s not correct. Thereisno minimum 10 Mr. Haynes, isa sentence that states that
11 target for our reservoirs. Basically we have, 11 Hydro's current ten year annual average load
12 as we talked about the red line, the maximum 12 growth projection for the Idland
13 storage capability. Wedo not have minimums 13 Interconnected System is 1.3 percent. Could
14 on any particular reservoir. We try to manage 14 you explain what period of time is represented
15 thewhole. | think if you were operating a 15 by that sentence?
16 single plant where youmay employ a guide 16 A.Yes. When we discussed this on Tuesday, | did
17 curvein atraditional way because you had a 17 reference the load forecast payable, which |
18 fairly base load and ther€’ s no opportunities 18 wasn't fast enough to find. It's actually
19 for inter reservoir optimization. And we take 19 Schedule 14. Andthe 1.3 percentis the
20 afair bit of time to basically maximize the 20 anticipated energy requirements in 2012
21 hydraulic production to minimize thermal 21 compared to the actual experienced in 2002.
22 production and to basically maximize the 22 And those numbers arein the tableanditis
23 overall, the overall economicsin favour of 23 1.3 percent, the average annual growth.
24 our customers. 24 Q. The specific undertaking related to the
25 Q. Sothat green line, the minimum storage target 25 average annual growth for the period from 2003
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1 GREENE, Q.C.: 1 MS.NEWMAN:
2 to 2011 prior to the Voisey’s Bay nickel load. 2 Q. Ms. Greene, do you wish to make them exhibits
3 What isthe projected average annua load 3 to the testimony of Mr. Haynes?
4 growth for that period from 2003 to 2011? 4 GREENE. QC.:
5 A.It's0.6 percent per year for that eight year 5 Q. I’mgoing to speak to them; Mr. Haynes is not,
6 period. 6 so perhaps if we--the purpose of distributing
7 Q. If we compare that now for the period from 7 these hard copiesisto illustrate that this
8 2002 actual to 2011 forecast, what is the 8 issue was raised during the 2001 General Rate
9 projected annual load growth for that period 9 Application and it was decided by the Board.
10 from 2002 actual to 20117 10 Andinlight of the Chair'scomments at the
11 A. And that was 0.8 percent per year. 1 beginning of this hearing, | question the
12 Q. Thelast undertaking that was given on Tuesday 12 merit of raising an issuethat has already
13 is found on pages 168 to 169 of the 13 been reviewed at length in the 2001 GRA and
14 transcript. And the specific undertaking 14 decided by the Board.
15 related to providing an explanation given by 15 The first document that I'd like to refer
16 Newfoundland Power for their revised load 16 toisthe transcript of November 6th, 2001.
17 forecast provided during the 2001 General Rate 17 Mr. Budgell was the witness for Hydro at that
18 Application. And here | do have some 18 time. And beginning on page 19 of the
19 documents to distribute.  What I'm 19 transcript of November 6th you will see that
20 distributing are extracts from the transcript 20 Ms. Henley Andrews questioned Mr. Budgell with
21 and from final argument from the 2001 GRA 21 respect to the revised load forecast that had
22 where thisissue was raised. And they haven't 22 been provided by Newfoundland Power and was
23 been filed to date, so they’re not part of the 23 filed by Hydro in its update that was provided
24 official record for this hearing, so it's 24 in October of 2001. And in fact, the
25 necessary to distribute them in hard copy. 25 questioning was at length. | didn't provide
Page 11 Page 12
1 the whole transcript, but the balance of the 1 others, but | have provided some pages where
2 day of November 6th was with respect to this 2 there was cross-examination at length on this
3 issue of the reasonableness of the revised 3 issue. And asl said, it actually took the
4 forecast from Newfoundland Power. The 4 rest of the day of November 6th with respect
5 specific undertaking that was asked on Tuesday 5 to historical |oad forecast of Newfoundland
6 was to provide the explanation that was given 6 Power and how it compared to the revised 2001
7 by Newfoundland Power for therevised load 7 load forecast. And in fact, there was
8 forecast in 2001. And | have provided to you 8 additional cross-examination on November 7th
9 page 19 where the exact same question was 9 ontheissue.
10 asked of Mr. Budgell in 2001. And | guessthe 10 The next document that | have circul ated,
11 answer doesn’t change in 2003. When you look 11 there’ s no heading on it but the page No. is
12 at line 60, you'll see Ms. Andrews ask Mr. 12 111. Andthisisan extract from the written
13 Budgell "What's your understanding of 13 submission of the Industrial Customersin the
14 Newfoundland Power’ srationa for the change?' |14 2001 General Rate Application. And the
15 The answer that Mr. Budgell gave is then 15 section that | have provided an extract of
16 contained, "I haven't got any explanation 16 relates to 2002 forecast load. And you will
17 other than that fact that the new forecast 17 seeon page 12 inthe second full paragraph
18 reflects an update to the load. Newfoundland 18 where the issue of Newfoundland Power’s
19 Power normally reflects their energy usage and 19 revised load forecastis raised. And then
20 then applies aload factor on their, | guess, 20 from page 112 to 113 there is the argument as
21 on theindividual energy demands on the system 21 to why the load forecast was not reasonable
22 and they do every time, | believe, they do a 22 and should not be accepted by the Board to be
23 forecast, they do an updateto that. I'm 23 used in setting the 2002 rates. And you will
24 assuming that the sample that they’re using 24 see on page 114 of that submission where the
25 reflected this change.” And | won't read 25 Industrial Customer submitted that
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1 GREENE, Q.C.: 1 undertaking, the answer to the question isthe
2 Newfoundland Power’ s revised demand and energy 2 same aswas given in the fall of 2001, which
3 forecasts are not reasonable and should be 3 isthat it was based on Newfoundland Power’s
4 rejected. So that was their written argument. 4 review of the load forecast asthey had done
5 The third document | have circulated is 5 inthe past. However, our position isthat
6 an extract from the transcript of January 6 this issue which related to the load forecast
7 28th, 2002 which was the oral argument at the 7 to be used in setting the current ratesisa
8 conclusion of the 2001 GrRA. And | have 8 moot issue, it wasalready decided by the
9 provided pages 34 and 35 of the transcript. 9 Board and should not be readdressed at this
10 And | would draw your attention to line 100 10 timein thishearing as thereis no--asit
1 where again we get the specific reference to 1 does not deal with the future rates but with
12 the Newfoundland Power revised forecast. And 12 respect to the current rates.
13 you'll see therethat in ora argument, as 13 So those are the responses, Mr. Chair, to
14 well, the Industrial Customers raised the 14 the three undertakings that were given on
15 issue that the revised forecast for 15 Tuesday and included what | had as preliminary
16 Newfoundland Power was not reasonable and 16 comments for this morning. Thank you.
17 should berejected by the Board. Sothat’s 17 MS. NEWMAN:
18 beginning at line 100 on page 34 and 18 Q. Beforewe move on, just we should label those
19 continuing over to page 35 in the top 19 documents, | guess. We'll call them all
20 paragraph on page 35. 20 Information Item No. 15. 15-A will bethe
21 The Board, in Order P.U.7 approved the 21 first document referred to, the transcript of
22 Cost of Service that was filed by Hydro which 22 November 6th. 15-B will be the excerpt from
23 included the revised Newfoundland Power load 23 the argument starting with page 111. And 15-C
24 forecast that was filed in October of 2001. 24 will be the transcript of January 28th, 2002.
25 So with respect to the specific 25 CHAIRMAN:
Page 15 Page 16
1 Q. Thank you. Thank you, Ms. Greene. Good 1 A Yes
2 morning, Mr. Haynes. How are you? 2  Q.Okay. Would you agree with me that the
3 A.Good. Thank you, Mr. Chair. 3 forecast didn’t come true?
4 Q. Whenyou'reready, Mr. Hutchings, please? 4 A Most don't.
5 HUTCHINGS, Q.C. 5 Q. That istrue. And someare closer than
6 Q. Thank you. Mr. Haynes, just so we're 6 others, correct?
7 completely clear on thisfinal issue of the 7  A.Thatiscorrect.
8 Newfoundland Power load forecast, isit your 8 Q.Um-hm. Andwould you agree with me that there
9 evidence now that Mr. Budgell’s answer from 9 was asignificant variance in the amount of
10 November 6th, 2001 on page 19 at line 63is 10 energy--rather, not in the amount of energy,
1 still correct, that he--that isto say, Hydro 1 which was actually pretty close, but in the
12 hasn’t gotten any explanation for the rational 12 demand that actually occurred in 2002 from the
13 for the change? 13 forecast which wasincluded inthe Cost of
14 A. No, wedon't have any specific details of the 14 Service?
15 way they calculate those particular numbers, 15  A. There was anotable difference, but there are
16 no. 16 many factorsthat drive that, so, you know, it
17 Q. Soyou did not get any explanation? 17 isafair bit of variation over theyearsin
18  A.No. 18 any load forecast or any load factor.
19 Q. No. Okay. Andyou didn’t look for any? 19 Q.| understand that. The question becomes how
20 A.| think there wasdialogue that it was a 20 much reliance we put on these things. Do you
21 different number, but we assumed it was done 21 know what specific factors causedthe 2002
22 on their methodology for calculating that 22 actual demand of Newfoundland Power to be so
23 particular number. 23 much higher than the forecast demand?
24 Q. And you were prepared to put that in the Cost 24 A.No, | do not.
25 of Service on the basis of that assumption? 25 Q. Okay. If we could just go back to Schedule 4
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1 GREENE, Q.C.: 1 average inflows and affected the way that we
2 for amoment? It'sthecurves. Yeah. You 2 would operate the system. So that’s a--and
3 indicated that there was an influence on the 3 the green lineisevolving over time aswe
4 green line here, the minimum energy storage 4 experience--you know, it'snot going to have
5 target from some periods other than the 1958 5 any significant impact if it's a dry months,
6 to’61 lowest inflow period. Can you describe 6 but if you have two or three dry months which
7 for uswhat else aside from that lowest period 7 kind of exceed the short term, it can impact
8 from '58 to '61 influences those curves, how 8 that shape.
9 other periods of times factor in? 9 Q. Okay. Soiswhat you do when you come across
10 A.There was a dry sequence, not the firm 10 aperiod such asinthe fall of 1987, am|
11 sequence which was experienced in the late 11 understanding that that was the fact--a period
12 summer and early fall of 1987 where we had 12 that was lower than the corresponding period
13 several months of, you know, sustained low 13 within--the corresponding months within 1958
14 inflow period, so that would actually affect 14 to’61?
15 the shape of the line. That isonethat | am, 15  A.ldon'tthink it waslower necessarily than
16 you know, have some--am familiar with. So it 16 1960, '61, but it would have had an influence
17 does actually change the shape. The shape of 17 on other, you know, say, fall periods. Other
18 the linebasically is the forecasted, you 18 fallswould not have been asdry and so the
19 know, theworse case. Thefirmis obviously 19 line would take a dip down in that period of
20 the big thing or the main thing that we try to 20 time. But biggest factor isthe load, you
21 protect, thethree year dry sequence, but 21 know, the firm load expectations of the
22 there were other--you know, in particular, in 22 customers or our forecast.
23 1987 there was a sustained period of dryness. 23 Q. Sure. No, | understand that. So thisis some
24 It didn't go for years, but there was afew 24 exercise of engineering judgment, | take it,
25 months where it would have affected our 25 that influences this curve on the basis of dry
Page 19 Page 20
1 periods other than your lowest firm period? 1 repeated and the one that we would protect
2 A.Yeah, it'sengineering judgment, but it's 2 against.
3 pretty accepted, it is generally accepted 3 Q. Youindicated that your goal herein setting
4 hydraulic practice to plan the interconnected- 4 that minimum curve is to ensure that you meet
5 -you know, to plan the system that way. 5 the firm forecast load?
6 Q.No, no, I'm not challenging--I'm not 6 A. That'scorrect.
7 questioning the - 7 Q. Okay. What do you use asthe firm forecast
8 A.Yeah. Butitisstandard practiceanditis 8 load for Newfoundland Power in that instance?
9 engineering judgment, but it’sbased onthe 9 A.We use their load forecast, their energy
10 actual datathat did occur and the assumption 10 forecast. This basically is energy, not
11 isthat it can be repeated. 11 demand.
12 Q. Isthere some guideline which tellsyou that 12 Q. Sure.
13 you have to take into account this fall period 13 A Webasically use their energy regquirements
14 in 1987 or not in altering your curve, which 14 that they project.
15 we aways understood to be onthe basis of 15 Q. And equally with the Industrial Customers?
16 that firm period? 16 A. That’scorrect.
17 A.Thecurve is generated based onthe whole 17 Q. And your own hydro rural customers?
18 series. The most critical period was the dry 18 A.Yes
19 sequence of 1958 to’'61. There arevarious 19 (9:30am.)
20 other influencing factors and |1 wouldn’t 20 Q. Mr. Haynes, I'd like to discuss with you for a
21 pretend to know them all. But asyou go down 21 little bit the incident that was referred to
22 through and you look at history, you examine 22 in your earlier testimony in September, |
23 the hydraulic series, then basically you 23 believe, of 2003 where you had the station
24 generate the scenario that you think that you 24 service failure at Bay D’ Espoir.
25 would be--would be the most as possible to be 25  A.Yes.
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1 GREENE, Q.C.: 1 or getting ready and possibly on. It would
2 Q. What date did that occur? 2 be, you know, the shoulder season.
3 A. September 18th. 3 Q. Okay. So | takeit that when thisincident
4 Q. September the 18th? 4 occurred the instructions or operating
5 A.I'msorry. Yes, September the 18th. 5 procedures that are appended to your Exhibit
6 Q. Okay. And were you able to ultimately 6 JRH-3would come into effect, asto say with
7 determine the cause of the failure of station 7 Appendix A?
8 service? 8 A.That'sgeneraly correct. Sometimesit would
9 A.Yes There wasan inverter failure which 9 be--you know, it depends on the amount of time
10 basically is a--converts power from DCto AC, 10 that we anticipate getting the particular
11 and it failed and the, | guess the root cause 11 issuerepaired. Sometimesit’sa matter of
12 isinthe protection design which has since 12 just restarting the machines and it may be
13 been changed. There was an exposure there 13 only a few minutes; other timesthere are
14 that in a certain situation when a certain bus 14 other events which cause alarger delay if an
15 was de-energized, if the inverter was removed 15 investigation isrequired. But generally
16 from service or tripped, it would actually 16 speaking, that would be followed.
17 losethetotal station service. And that’s 17 Q. Okay. And how long did it taketo get Bay
18 what happened. That deficiency has since been 18 D’ Espoir back on, on that particular occasion?
19 addressed and repaired and I’'m assured will 19 A. Well, that was a very unique problem which we
20 not happen again. 20 had not experienced and we had actually--I
21 Q.Okay. In September, | guess, normally Bay 21 believe there were three machines that
22 D’Espoir would be producing significant 22 actually tripped off the system. And | do not
23 amounts of energy? 23 have thetime frame. I’mnot sure when
24 A. Typically, yes, because that would be the time 24 exactly the plant came back in line fully. 1
25 period when Holyrood would be just starting up 25 don’'t have that in mind right now.
Page 23 Page 24
1 Q. Okay. Canyou just give us an estimate of how 1 Odler and Bowman' stestimony? Blinded by the
2 long it was before, you know, service was 2 light, Mr. Chair. Yeah, starting at line 10
3 restored? 3 there and going down to line 28 the evidence
4  A. Servicerestored to the customers? 4 reproduces the sequence of activitiesin the
5 Q. Um-hm. 5 case whereload islost. And this particular
6 A.Thatwas, | would suggest that was inless 6 one incorporatesthe information that was
7 than an hour that the service was restored. 7 provided in 1Cc-295 about the sequencing of the
8 Q Um-hm. 8 standby generation. Haveyou reviewed that
9 A.linterpret your question when Bay D’Espoir 9 listing of 11 steps?
10 wasrestored. There wasa bit of a delay 10 A. |l hadreviewed it, | had reviewed that before,
11 because we had some issues to try to 11 yes.
12 understand what exactly happened before we 12 Q. Yes, okay. And is this essentidly an
13 actually go back and take a chance - 13 accurate representation of the steps that
14 Q. Yeah, | recognizeit's adifferent question, 14 would normally be taken in such an event by
15 yeah. 15 Hydro?
16 A.But | think it was probably--1 actually don’t 16 A. That would be the normal sequence. Obviously
17 havethat recorded. But typically for an 17 there are, sometimes there are, you know,
18 event like that it'susually four to five 18 equipment out of service for onereason or
19 minutes, but depending on the nature of it is, 19 another that may not be available, but that
20 what time of the year, what other machines are 20 would be the general order.
21 available, particular Holyrood obviously being 21 Q. Sure. Okay. And on September, 2003 which of
22 a big source of energy. | think it was 22 these steps were taken?
23 approximately an hour that most things were 23 A.ldo not know. | don't know that detail
24 returned, but | am not definitive on that. 24 offhand, but| would assureyou that any
25 Q.Okay. Canl ask youto look at page 36 of Mr. 25 generation that was available to be dispatched
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1 MR. HAYNES: 1 turbines, they didn't actually geton. Is
2 to overcome than would have been initiated by 2 that correct?
3 the Energy Control Centre. But | don’t know 3 Al know that one gasturbine did get on. | am
4 the detailed steps or which particular 4 not certain whether the second one, the small
5 machines. | know that GNPwas on, | know that 5 one actually came into service or not.
6 gas turbines were activated, |1 know that 6 Q. Okay.
7 Newfoundland Power was contacted to initiate 7  A.l understand the Green Hill gas turbine had
8 their--to do what they could do to start their 8 some maintenance issues that it did not
9 machines or get them up to speed. 9 actually get into service.
10 Q. Okay. You said you knew that GNP was 10 Q. Okay. Andthe Green Hill isthe one onthe
11 activated. | takeit that’s step 5-E here? 11 Burin Peninsula?
12 A.Yes. AndRoddickton wason. | think St. 12 A Yes itis, yeah.
13 Anthony was certainly on, Roddickton was on, 13 Q. 25 megawatts?
14 and | think there may have been some issues on 14 A Yes
15 maintenance at Hawke'sBay at thetime, at 15 Q. Yes, okay. Did your two turbinesin Hardwoods
16 that particular time. 16 in Stephenville come on?
17 Q. Okay. When you say that Roddickton was on, 17 A.l believethey did but I--if they were not on
18 does that imply that the two NP gas turbines 18 maintenance, they would have been on.
19 were on as well? 19 Q. Okay. But you don't know whether they
20 A.Therequest wasinitiated, and | know that 20 actually came on or not?
21 they had some maintenance issueson one. I'm 21 A.l would be quite--1"'m confident to say that
22 not sure about the second one. 22 they were, but | -
23 Q. Okay. | thought | had understood from earlier 23 Q.Okay. And what about the Holyrood gas
24 answers that you'd given that while the 24 turbine?
25 request was madeto put on thetwo NP gas 25  A.ldid not go down through the sequence of
Page 27 Page 28
1 events to see, to determineif each and every 1 mean, any actions that the Control Centre take
2 step was anticipated. My understanding is 2 would be, in dispatching the generation, it
3 that all available generation that we could 3 would be, you know, a ranking from the point
4 dispatched would have been dispatched if it 4 of view of the cost of fuel at the time and
5 was available, 5 the ranking order, if you will, for Hardwoods
6 Q.Okay. Doyou know if any of the non-firm 6 in Stephenville, for non-firm, could change
7 Industrial energy was interrupted? 7 depending on the price of fuel in the tanks.
8 A.l don't even know if we were actualy 8 But on an emergency basically it's no holds
9 delivering non-firm at that particular time. 9 barred, if you will, to go get things back in
10 Q. Okay. | takeit you--well, did you get down 10 service to meet the customers’ demands.
11 to the point of reducing voltage at Hardwoods 11 Q. Okay. | take itthat no issuearose on
12 or Oxen Pond' s or ask anyone to shed any load? |12 September 18th, 2003 about curtailing the
13 A.I’'mnot sure. 13 Interruptible B 1oad?
14 Q. Youdon't know? 14  A. Therewas no Interruptible B on September--
15 A. That would be the normal function in the 15 there was no Interruptible B available at that
16 Energy Control Centre and | would not 16 time.
17 necessarily get into their clock on each and 17 Q. Becausethe contract had been permitted to
18 every event. 18 lapse?
19 Q. Okay. No, | simply assumed because you had 19  A. Thecontract did not cover September anyway.
20 aready told us that you knew that the 20 Q.No, okay. |take itthat asidefrom the
21 Newfoundland Power--or the Great Northern 21 Interruptible B contract that did exist, Hydro
22 Peninsula generation wason that you had 22 hasno other similar interruptible types of
23 brushed up on this and you were aware. 23 arrangements with any of its customers?
24 A.l was awarethat that generation was on 24  A. Not like that, no.
25 because it was available and it was there. | 25 Q. Okay. Theonly other issue would be the non-
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1 GREENE, Q.C.: 1 A.Yes, and they could obviously presumably

2 firmindustrial energy that may be taken at-- 2 decrease their non-firm take.

3 happen to be taken at any one point in time? 3 Q. Yes They could choose toreduce it or

4 A If we were delivering any non-firmat the 4 eliminate it at that time. Assuming that they

5 time, that would have been something that we 5 didn’'t do that, it wouldn’t be down until step

6 would have curtailed, yes. 6 6 that you would actually interrupt their non-

7 Q. And that would occur after all of your other 7 firm energy, correct?

8 generation was on, including diesels and gas 8 A. When there was nothing elseto fire up, if you

9 turbines and everything else? 9 will.
10 A.Actuadly, | think if you go back to, | guess, 10 Q. Right, okay. So in the situation of an event
11 the report that we have attached to Mr. 11 such asthe September 18th event, had there
12 Oder’'s, that's actually Item No. 4. We'll 12 been any similar arrangement to Interruptible
13 maximize hydraulic and steam. We asked 13 B in place, presumably that would have been of
14 Newfoundland Power to maximize their hydraulic |14 assistance in meeting the problems created by
15 generation and | guess what that realy 15 that event?
16 impliesisthat beforewe actually start to 16  A. Thelnterruptible B, when it was introduced, |
17 burn amore expensive source of energy, we'd 17 guess, or when it wasinitiated in 1993, it
18 actually curtail the non-firm. 18 was more done based on a short-term planning
19 Q. lthinkI - 19 horizon whereby for a short period of time, we
20 A.Or give the Industrialsthe optionto pay 20 saw some issues with peak, and maybe because
21 those higher costs. 21 of equipment availability or because of
22 Q. Yes, andthat’swhat Item 4 is. 22 unforeseen load, the action right here
23 A.Yes. 23 basically isrecovering from a--primarily from
24 Q. You notify them that they could be paying gas 24 a-the September event certainly was because
25 or diesel costs, correct? 25 wehad a faillureand afairly significant

Page 31 Page 32

1 failure at the Bay D’ Espoir plant, and we were 1 generation, on the various diesal units, which

2 in very much of ahurry to get generation on. 2 isthelast line, the start-up timeis 45 to

3 The Interruptible B, there’ s time frames were 3 60 minutes and the mobile gasturbine, the

4 noticed. There's restriction on the hours of 4 start-up time is 60 minutes. s that correct?

5 theday. Thelnterruptible B isdefinitely 5 A. That'scorrect.

6 not the same product asa gasturbine. It's 6 (9:45am.)

7 very not compatible. They’re not comparable. 7 Q. Okay. And together, they provide 13.9

8 It was useful for that particular event, when 8 megawatts?

9 we had anidentified significant number of 9 A.Yes, that'scorrect.
10 years between when we had an LOH criteria 10 Q. Okay. Andwould you not see that there would
11 deficiency and an energy balance problem. But 11 be greater valuein getting 46 megawatts
12 it's not the same product as a gas turbine. 12 within those 60 minutes, than getting 13.9in
13 Q. Now | wasn't suggesting it was the same 13 that fashion?
14 product asa gas turbine, but the notice 14 A. The 13.9 megawaetts, once they’re started, at
15 provision that was in the Interruptible B 15 availablefor aslong aswe want, and you
16 contract was for one hour. Isthat correct? 16 know, and so on. The 46 megawatt
17 A.l believethat’s correct. 17 Interruptible B has certain time restraints on
18 Q. Okay. So on one hour’s notice, you could get 18 the hours of the day when it can be used and
19 rid of 46 megawatts of load? 19 on themonthsthat it canbeused. Soit's
20 A.Yes, for adefined period of time. 20 still not the same product. But, you know, |
21 Q. Yes, okay. Now if welook at I1C-295 on page 2 21 mean, certainly there would have been some--
22 of 2, we have the information about, among 22 the 46 megawatt Interruptible B was to look
23 other things, start-up time and dispatch 23 after the winter period and it’ s--1 mean, when
24 sequence for various standby generation, and 24 we go down toitem No. 9, | mean, we could
25 if welook at the Newfoundland Power standby 25 request the Industrial Customers of
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1 MR. HAYNES: 1 A.Basically we have the HYDROWISE Program and
2 Newfoundland Power, asyou start going down 2 primarily that’s our single biggest effort or
3 that pecking order, if you will, you will 3 the singlething that would contribute to
4 eventually get to curtailing load anyway. 4 demand side management over time.
5 Q. Now, but that's - 5 Q. Areyou till filing annual reports with the
6 A.Mostof our - 6 Board on demand side management activities?
7 Q.- that'scurtailing firm load, correct? 7 A.I'mnot certain. I'm not certain that we do
8 A.Yes, that's curtailing firm load, yes. 8 or do not.
9 Q. Okay. And that’s something that nobody plans 9 Q. Okay. I noted that that wasdirected in the
10 for, except in an emergency situation, 10 1992 referral and you don’t know how long that
11 correct? 11 went on after that, do you?
12 A. That'sthelast resort. 12 A.I'mnot certain.
13 Q. And that causes disruption and cost to all of 13 Q. Okay. | understand as well that your target
14 your customers, correct? 14 at the time of the 1992 hearing was to get 50
15  A.Yes, it would. 15 megawatts from Industrial Customersby 1993
16 Q. Yes, okay. Overall, wouldn'tit have been 16 and 25 megawatts from retail customers by the
17 nice to have 46 megawatts Interruptible B 17 mid 1990s. Do you know if you met either of
18 available to you on September 18th? 18 those goals?
19  A. For that one event, you haveto evaluate the 19 A. | havenot reviewed that. | do not know that
20 cost and this overall and | would be reluctant 20 history.
21 to--1 don’t think that at the end of the day 21  Q.And at the present time, you have no
22 itwould have been something that we would 22 particular target in mind for reducing demand
23 have bought for that particular single event. 23 by demand side management activities? Is that
24 Q.Whatis your current goa for demand side 24 correct?
25 management programs or target? 25 A.We have, in the isolated diesel aress,
Page 35 Page 36
1 reviewed demand side management opportunities | 1 turbinesand to do that and | know that one
2 as generation expansion particularly is 2 did not--they could not get one on or, you
3 required, but on the bulk system, we have not 3 know, it was on maintenance or whatever. I'm
4 taken any significant effort along those lines 4 not sure about the others.
5 and as I’vementioned in previous testimony 5 Q. Okay. Just one point for clarification
6 that the--particularly from a residential 6 arising from some questions Mr. Kelly was
7 customer point of view, the biggest customer 7 asking you. Can we put up LBB-3, Mr
8 baseisnot ours, in fact, it's Newfoundland 8 Brockman's evidence? Back one page. That's
9 Power’s. 9 it. Can we get all that on--the two tables on
10 Q. If welook briefly at 1c-300, here Hydro was 10 one screen? Okay. Thiswas, as| understood,
11 asked about the occasions since 2000 when 11 a comparison of the peak and energy forecast
12 Newfoundland Power’'s generation has been 12 from 1990 and the same peak and energy
13 dispatched by Hydro to cover system capacity 13 forecast from the 2003 hearing. | takeit
14 peaks, and at the time this answer was 14 that all of the numbers we see here are
15 produced, there was only one occasion and that 15 forecast numbers and there are no actual
16 was on January 30th of 2003. Do you know 16 numbers on thisschedule. Is that your
17 whether or not this answer takes into account 17 understanding?
18 the September 18th situation? 18 A.Based on the dates, yes, that would be
19 Al would suggest that the answer in--well, the 19 correct.
20 answer in 300 was with respect to our system 20 Q. Okay. Sowhat we'relooking at isaforecast
21 capacity peak, which would have been, you 21 from 1990 and another forecast from 2003. Can
22 know, your one event a year, maybe two events 22 you give us any number which would put into
23 ayear. September certainly would not have 23 context the actual peak in any of these
24 been a peak month but, as| indicated, we did 24 particular years?
25 request Newfoundland Power to start the gas 25  A. That has been provided in a couple of RFIS, if
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1 MR. HAYNES: 1 actual Hydro Idland requirement for 2002 was
2 you give me asecond. | don’t know if it was 2 1403 megawatts. Isthat correct?
3 Newfoundland Power or the Industrial Customers | 3 A. Yes, that’s correct.
4 who asked that question offhand. 4 Q. Sowould that be comparableto the forecast
5 Q.| don't think we need them all, Mr. Haynes. 5 peak megawatts for 2003 of 1578?
6 A.No, |just can’'t find it. | mean, the 6 A.lthink the2003, 1578 would bethe tota
7 forecast--1 mean, typically the forecast for 7 Interconnected System requirement.
8 the next year isreasonably close. Obviously 8 Q. Okay.
9 it varies depending on the wesather, and then 9 A.l think the 1403 is the Hydro Island
10 asyou go aong the time, there’ s often times 10 requirement.
11 alarger error. But there were several RFIS 11 Q. All right. Okay. Soyou don’'t have, in your
12 filed with a forecast history. Actualy, | 12 evidence, the total island requirement for
13 think | have them here, I'm sorry. The long- 13 2002, do you, actual?
14 term planning load forecast for total Island 14 A.In 2002 actual, the total island requirement
15 Interconnected System was filed as 1C-270, and 15 is on Schedule 14. Theactua was 1592
16 if you go tolic-270, page 2 of 3, for 16 megawatts.
17 instance, in 1993, actualy that'sa very 17 Q. Yes, okay. So that would be the number that’s
18 long, long term. There was another one, I'm 18 comparable with the forecast, 1578?
19 sorry. | cannot find it at my fingertips but 19 A.Yes
20 | assure you it’sthere, I’'m sorry. 20 Q. For-
21 Q.Yes, well - 21 A. And that’s the number that, you know, | think
22 A.There'sseveral. There wasa whole--there 22 I may have inferred or implied yesterday or
23 were a series of planning forecasts filed. 23 the day beforethat what we havein these
24  Q.Yes. What I'm trying to get to really isthe 24 particular things iswe plan for the total
25 actualsand | think from your Schedule 11, the 25 island forecast of al, you know, including
Page 39 Page 40
1 the Industrial 1oad behind their generation 1 Q. Okay. Sowhat we need to addressis how to
2 and soon, so thisis the Interconnected 2 takeinto account, in the fairness possible
3 Island requirements, regardless of who 3 manner, the fact that Newfoundland Power does
4 supplied. 4 in fact have generation facilities of its own,
5 Q.Okay. Allright. That covers that point. 5 correct, that needs to be addressed in a cost
6 I'd like to discuss alittle further with you 6 of service situation?
7 the issue of the Newfoundland Power generation 7  A. | believeit has been addressed.
8 and you reviewed some of this material with 8 Q. Yes, and it needs to be addressed?
9 Mr. Kelly earlier. | take it thereal issue 9  A. It has been addressed, | thought.
10 here is how wedea with the fact that 10 Q. Yes. Andit has been because it needsto be?
11 Newfoundland Power does have itsown both 11  A.Yes
12 hydraulic and thermal generation and how that 12 Q. Okay. You'retrying to get one question ahead
13 should impact the cost of serviceto al of 13 of me, Mr. Haynes.
14 the customers. Isthat really theissue we're 14  A. |l apologize.
15 trying to get here? 15 Q. Wetakethem oneat atime.
16 A.Canyou repeat that? I'm not quite surel 16 A.I'll try not to do that.
17 understood what you asked. 17 Q. If wetakethemoneat a time, | think we'll
18 Q. Well, obvioudly if Newfoundland Power had no |18 make better progress. Y ou’ve mentioned in the
19 generation of itsown, thiswouldn’'t be an 19 course of your evidence that you don’t--you're
20 issue, would it? 20 not really in thefield of the cost of service
21 A.Wadll, therewould be no generation credit 21 and you don’'t feel that you should be
22 applied because we would be basically filling 22 addressing specific issues arising out of the
23 the--presumably Newfoundland and Labrador |23 cost of service study itself. Is that
24 Hydro would be providing the generation to 24 correct?
25 their total requirements. 25  A.Youwill get much more competent answers by
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1 MR. HAYNES: 1 meeting the requirements of the system at this
2 asking Mr. Banfield and Mr. Greneman. 2 stage, | takeit you regard the Newfoundland
3 Q. Okay. Andequaly, you'renot comfortable 3 Power generation, both hydraulic and thermal,
4 with addressing rate design issues? 4 as being useful? Isthat correct?
5 A.No, that's correct. 5 A.Yes wedo.
6 Q. Okay. So harkening back to my openingremarks | 6 Q. Sofromyour point of view, if Newfoundland
7 about the three classesof issueswe have 7 Power’ sthermal generation were to disappear
8 here, aside from cost of serviceand rate 8 tomorrow, would you go out and buy generators
9 design, are the revenue requirement issues. 9 to replace that?
10 So those are the issues that--the issues that 10 A.If the Newfoundland Power generation were not
11 you address fall within that category? Is 11 available -
12 that correct? 12 Q. Thermal generation.
13 A.Wadl, | guess, from my perspective, | guess, 13 A. Pardon?
14 the position we basically are there to fulfil 14 Q. Thermal generation.
15 the needs of the system load and we operate 15 A Just the thermal generation were not
16 and maintain the system. That’s primarily my 16 available, what that would do, it would impact
17 role. 17 our LOLH calculations and it would--1"m not
18 Q. Atthe lowest possible cost consistent with 18 quite sure at what particular time, but it
19 reliable service? 19 would definitely affect, quite possibly affect
20 A. Exactly. 20 the timing of the future megawatt requirements
21 Q. Yes, okay. And that’swhere the revenue 21 or, you know, some peaking plant capability,
22 requirement comesfrom, that’s the lowest 22 because they would not actually--the diesel
23 possible cost? 23 plants or the gas turbines would not actually
24  A.That'sabig part of it, yes. 24 remove energy from the system because we don’'t
25 Q. Right, okay. Now from the point of view of 25 depend on that for firm, but it would affect
Page 43 Page 44
1 the LOLH. 1 least cost for the consumersor the overall
2  Q.Yes okay. Soif it affected the LOLH to the 2 cost of service.
3 extent that you needed additional capacity, 3 Q. That cost would disappear off your desk into
4 you know, you had to go out and buy a gas 4 the cost of service study, and from your point
5 turbine, would you look at all into what the 5 of view, youdon't much care where it goes
6 cost effectsof that would be on particular 6 after that?
7 customers or would you just be looking for the 7  A.Wdl, no, | wouldn't put itthat way. |
8 most economical way to meet the need? 8 certainly do care, and | certainly am
9 A Wewouldlook at the most economical way to 9 sensitive to theimplications, but basically
10 reinstate the planning criteriathat has been 10 we plan the system--we plan the Island
1 adopted at 2.8 hours per year. Y ou would look 1 Interconnected System to meet a certain
12 at--you would have to look at the whole. You 12 criteriaand, you know, given that that isan
13 would have to look at the energy situation and 13 appropriate criteria, then what isthe least
14 thetiming and so on, and | don’t think you 14 cost to do to meet that particular criteria,
15 could look at one specific aspect. You have 15 we would propose to the Public Utilities Board
16 to look at thewhole, at al the options and 16 for approval. And obviously, there are
17 what they actually bring to the table. 17 repercussionsin the cost of service and so
18 Q. Okay. Directing my question to the production 18 on, but you know, it canbe met by Hydro
19 department, would it be any concern of yours 19 sources. It can be met by NUGsand so on.
20 asto what the impact on particular customers 20 There are amyriad of different things that we
21 would be of replacing existing thermal 21 would consider to achieve that objective.
22 generation owned by Newfoundland Power with 22 Q. Asl understandit, the Newfoundland Power
23 new thermal generation owned by Hydro? 23 hydraulic generation isused by Newfoundland
24 A. The production division and Newfoundland Hydro 24 Power and you really don’t have any connection
25 would basically propose todo what is the 25 with that, do you, other than perhaps asking
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1 GREENE, Q.C.: 1 Newfoundland Power--I don’t know their actud
2 them to optimize it in an emergency Situation? 2 production costs per generating plant.
3 A. Theaverage energy production of Newfoundland | 3 Q. No, but onewould assume that it'd be much
4 Power’s hydraulic resources is considered 4 less than the cost of producing that energy in
5 obviously as, you know, in the energy forecast 5 Holyrood?
6 that we provide, and the megawatts are there 6 A.lwould think, certainly lessthan Granite
7 and if we--you know, they are there. We 7 Candl, if you will.
8 assume they’'re thereat the 78 megawatts 8 Q.Yes
9 during peak on anormal basis and if we have 9 A. Thenewer plant.
10 any deficiencies, we would certainly call them 10 Q. Right. Interms of the Newfoundland Power
11 to ask them to basically, you know, turn them 11 thermal generation then, | take it you don’t
12 up a bit higher, if required, but we would 12 plan on having any energy produced by that
13 only dothat when--and they do achieve a 13 generation? Isthat correct?
14 fairly--afair, high available--I'm sorry, a 14 (10:06 am.)
15 high availability in terms of megawatts during 15 A. Theonly thermal plant on theisland that we
16 peak. But we would call them if we saw any 16 actually plan any energy production fromis
17 deficiencies or any shortfalls, but 17 Holyrood. Wedon't plan for firm energy from
18 ordinarily, if it wasn't required, they would 18 any of the diesel plants or gas turbines,
19 manage it up to about 75 or 80 megawatts 19 regardless of ownership, because of the cost
20 anyway. 20 of operating, you know, the high fuel costs.
21  Q.Okay. And asl understand it, that’s power 21 Q. And that includes Newfoundland Power’ s thermal
22 that’ s relatively cheap in the context of this 22 generation?
23 system? 23 A.Yes, it does.
24 A. | would assume because most of them are older 24 Q. Now on the question of the capacity criterion,
25 plants, not all, but that would be a 25 as| understand it, and trying to make sure
Page 47 Page 48
1 that 1 took the right message from your 1 if you--I"'m not going to do the math. I'm
2 discussions with Mr. Kelly earlier, you 2 sure I’'ll tangleit up here, but basically we-
3 establish, in your case, an LOLH criterion and 3 -and we have already said there'sabouta 16
4 when you are forecasting that the number you 4 percent reserve which basically gets usto the
5 expected to reach is higher than your 5 2.8 LOLH. Soit would be basically aong the
6 criterion, you need to do something to bring 6 lines of 1602 plus 16 percent would be roughly
7 that number down, whether that’s creating new 7 the number.
8 generation or shedding load or whatever, 8 Q. Okay.
9 correct? 9 A.Youknow, that is not an absolute, but that’s
10 A.Yes, obviousy, | mean,if it's2.801, we 10 the ballpark.
11 probably don’'t be too concerned, but if it's 3 11 Q. Yes. Andas| understand it, the 16 percent,
12 or 3.5, then basically that’s atrigger that 12 and perhapsI’m wrong on this, isnotthe 16
13 we need to start looking at new peaking 13 percent aresult of the 2.8 LOLH?
14 capability on the system, in whatever formis 14 A.Yes, and we did file areport in 1C-158 which
15 most economic. 15 actually talked about the relationship between
16 Q. Okay. Andthat’sa standard way of managing 16 the LOLH and the reserve figure. It used to
17 this type of ahydraulic system or of an 17 be 18 1/2 percent, but there are a raft of
18 energy production system? 18 factorsthat actually influencethe actual
19  A. Pretty well any system, yes, any system that 19 percent, theload shapeand soon, soit's 16
20 planson an overall integrated basis would 20 percent is the study that--is the relationship
21 look at that, yes. 21 today between 2.8 and the -
22 Q. Yes, okay. If wecanlook now at your Table 22  Q.Yes. Oneof thefactors that affects the
23 8, how much capacity do you need to meet the 23 percentage that that produces is the amount of
24 demands on the system in 2004? 24 capacity that you havein place, isn’t it?
25  A. Our peak requirements are 1602 megawattsand |25  A. Yes, and the forced outage rates and their
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1 MR. HAYHES: 1 you know, 15 to 25, even 30 percent reserve,
2 availability. 2 depending on their situation.
3 Q Right. So- 3 Q.| understand that, but if you'retargeting at
4 A lt'snot just aname plate rating. It'sthe 4 2.8 LOLH, and nothing else changes other than
5 whole. 5 the addition of a couple of hundred megawatts
6 Q. No, | understand that, but just at a matter of 6 of capacity, what does that do to the
7 principle level, without getting into the 7 percentage reserve that isimplied by 2.8?
8 numbers, thefact of adding Granite Canal 8 A.The28 percent reserve is-I'm sorry, 2.8
9 would mean that your percentage of reserve 9 percent LOLH equatesto about 16 percent
10 would go down if your LOLH stayed the same, 10 reserve. 1n 2004, with our load forecast and
11 correct? 11 the generation that's available, our reserve
12 A. Theactual reserve would actually go up. We 12 isactualy just alittle under 20 percent.
13 would have more reserve because we added 13 So as you build generation, you will increase
14 Granite Canal. 14 the reserve and then you will come down over
15 Q. You would have more reserve, but your 15 time and then you'll presumably build new
16 requirement, your reserve reguirement goes 16 generation and you go up, you get sort of a
17 down as you add capacity, doesn'tit, asa 17 saw-tooth thing sort of thing as you build the
18 percentage of your total capacity? 18 system.
19 A. Thereserve requirement doesn’t change that 19 Q.ldon't think I’'m getting an answer to the
20 much asyou add in theshort term, it's 20 specific question in the sense of, as a matter
21 basically, | mean, our requirement is 16 21 of principle, if you maintain a2.8 LOLH and
22 percent and by adding the Graniteand the 22 nothing else changes, except that you add
23 NUGS, we're basically right now at 23 capacity to your system, doesthe required
24 approximately--just alittle less than 20 24 reserve percentage go up or down?
25 percent reserve. And typically systems are, 25 A.The required doesn't change, but what you
Page 51 Page 52
1 actually would have would be actually alower 1 think | clearly understand your question.
2 number. The required reserve doesn’t change, 2 Q. Okay,just as amatter of mathematics, it
3 you know, it's 16 percent. | don’t under - 3 seems to me that if areserve of 160 megawatts
4 Q. Wadll if you have a thousand megawatts and at 4 issufficient whereyou have 1000 megawatt
5 2.8 LOLH, your reserveis 16 percent; hence, 5 capacity, and nothing else changes, your
6 your reserve is 160 megawatts, correct? 6 reserve, 160 megawatts, should be the same if
7 A.Presumably, yes. 7 you add 1000 megawatts of capacity and hence,
8 Q. Yes, okay. Soif you then up that to 2000, if 8 you're till at 2.8 LOLH, but your percentage
9 you reserve your--if your change your capacity 9 is now down to 8 percent? Can you explain to
10 to 2000, has your reserve requirement now gone |10 me what’ s wrong with that?
11 up to 320 megawatts? 11 A. | think we're not on the same wavelength at
12 A.Only if your peak forecast load changed. If 12 al, | apologize. But when we plan a system,
13 your peak forecast load goesup, then your 13 weplan for our lossof load hoursof 2. 8
14 reserve requirement would go up, you know, all 14 hours. Obviously as you build generation that
15 else being equal. 15 you will have some impact on the actual LOLH
16 Q. Yes, but if nothing else changes, if your 16 that you would calculate for that situation.
17 requirements stay the same and nothing changes |17 If weretoday and let's assumethiswas 2004
18 other than that you add capacity? 18 and if you go to Table 8, we have aloss of
19 A. Then wewould have overbuilt, the criteriawas 19 load hours of 1.1 hours. If wewereto, for
20 still 16 percent. 20 whatever reason, put ina new plant, even
21 Q. Thecriteriais 16 percent orisit 2.2--2.8 21 though the load did not change, there was no
22 LOLH? 22 reason to do it, that calculation would
23 A.No, well the criteriais 2.2, it equatesto 16 23 decrease, you know, and the amount of
24 percent. It equatesto 16 percent reserve and 24 reduction would be dependant upon the type of
25 that’ s the way the numbers come out. | don't 25 plant that you build, its forced outage rate,
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1 MR. HAYNES: 1 percentage of your existing capacity?
2 its capacity factor, its availability and they 2 A Yes
3 al influence the number. Sothat number 3 Q. Yes okay. Soto get back to where | was, if
4 would reduce, but the criteria would not 4 nothing else had changed and the only thing
5 change. 5 that happened on the system was the addition
6 Q. No, thecriteriaisstill 2.8. 6 of 224 megawaetts of capacity from Granite
7 A. And the amount of reserve that we would have 7 Canal, then the percentage of the reserve that
8 on the system would increase substantially if 8 you would require, would go down, correct?
9 you add a generation that you didn’t need, for 9 A.Yes, the megawatts didn’t change much, but the
10 instance. 10 percent, yes.
11 Q. No, | understand that, and my question is not 11 Q. Okay, and that’s one of the things, | mean,
12 directed toward the actual reserve that you 12 it'snot al of it, obviously, but that’s one
13 would have, but therequired reserveas a 13 of the things that resultsin the 18.5 coming
14 percentage of existing capacity to meet 2.8. 14 down to 16, correct?
15 And it seemsto methat if you increase your 15  A. And the load shape, you know, there’ s several
16 capacity and change nothing else, that 16 factorsthat go into it.
17 percentage has to go down? 17 Q. Yeah, but thisisoneof them, the fact that
18  A. Putting it that way and maybe | misunderstood 18 there is additional capacity on the system?
19 for thelast ten minutes, yes, becauseit’'s 19 A.Yes you'dhave tolook at whereyou are at
20 just math, you just have a--you need "X" 20 some point in time.
21 amount of megawatts, 300 over alarger number, |21 Q. Okay, all right. So in 2004, what you require
22 if that was the discussion, | apologize. 22 to meet your load forecast, your peak load
23 Q. That'swhere we weretrying to get to, okay. 23 forecast, is1602 megawatts, plusyour 16
24 All right, so thereserve is anumber of 24 percent reserve, correct?
25 megawatts and that happens to bea certain 25 A.That'smoreor lessit, yes.
Page 55 Page 56
1 Q. Okay, and what you have availableis 1919 1 A. Sothat’snormal.
2 megawatts, correct? 2 Q. Now just look at--let’s look at the energy
3 A That'scorrect. 3 side. Your forecast for 2004 shows that you
4 Q. Okay, and the 1602 plus 16 percent isless 4 need to have available 8,504 gigawatt hours,
5 than 1919, correct? 5 correct?
6 A.That would be correct becausetheLOLHis1. 1 6 A.Yes, that's correct.
7 and not 2.8., yes. 7 Q. Okay, and your current capability, onafirm
8 Q. Yes, exactly, okay. So at the present time, 8 basis, is 8,706 gigawatt hours, correct?
9 you are capable of producing more megawatts 9 A That'scorrect.
10 than you need to meet your load, correct? 10 Q. Okay. Soyou havethe ability, at this stage,
11  A.Yes, that'scorrect, and that would be a 11 to generate more energy than the load that you
12 normal--as you build a system, that would be a 12 are required to meet, isthat correct?
13 normal event in any system. 13 A.Yes, that's correct, that’ s the energy balance
14 Q. That will happen from time to time? 14 on thefar right.
15 A. It will happen continuously. 15 Q. Okay. Soinyour discussion of Tuesday with
16 Q. Yeah, but atthisstage, younot only have 16 Mr. Kelly, he referred you to the evidence of
17 more capacity than you need to meet your load, 17 Mr. Bowman and Mr. Osler and I’'m just trying
18 you also have more capacity than you need to 18 to give you the transcript reference here. At
19 meet your criterion of 2.8 LOLH, correct? 19 page 4 of the transcript of October 21st of
20 A.Yes, and that would be typical for any 20 2003, actually you should go back to page 3
21 integrated system whereby you build plant in, 21 and at line 7, he quotes from the evidence of
22 you know, blocks that are--you can't 22 Mr. Osler and Mr. Bowman, and your answer is,
23 continuously build a system ona marginal 23 "No, | don't think what we havein serviceis
24 basis. 24 in excessof what's requiredto meet the
25 Q. No, no, | completely agree with you. 25 loads, given our criteria that we operate by."
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1 GREENE, Q.C.: 1 A. Thereisasmall amount there which will carry

2 Now, you just told me that you have more 2 usfor afew years, yes.

3 capacity than you need to meet your LOLH, you 3 Q. Yes okay.

4 have more energy than you need to meet your 4 A.But | would not suggest it’s "over built", it

5 requirements for energy, why is it that what 5 would be the normal way that you would expand

6 you have in serviceis not in excess of what's 6 the system.

7 required to meet the loads, given the criteria 7 Q. No, | understand exactly what you're saying

8 you operate by? 8 and | don’t think we used those words, but as

9 A.You cannot economically expand the system to, 9 matters stand now, it will be 2010 before
10 as you need one megawatt or you need one 10 thereisa violation of your LOLH criteria,
11 gigawatt hour that you build one megawatt and 11 correct?
12 you build one gigawatt hour. You builditin 12 A.In 2009 the energy balance would be avery,
13 incrementsthat are economically viable and 13 very minor deficit and in 2001, the LOLH would
14 optimize thetime. So, you know, you cannot 14 be exceeded.
15 go in--well, you can do it if you want, but it 15 Q. Yes, okay. If wecouldlook for amoment to
16 would not be prudent or reasonable or economic |16 your Schedule 14? Thisrelates to the issues
17 togoin and build the Granite Canal for 27 17 of growth that we talked about in terms of the
18 megawatts and 100 gigawatt hourswhen the 18 percentages. From 2003 up to 2011, would you
19 resource can provide you so much more, so - 19 agree with methat other than in the last
20 Q. No, I’'m not suggesting that at all and I’ m not 20 couple of years, 2010, 2011, theincreasein
21 suggesting there’ s anything devious or wrong 21 the number of megawatts that you foresee
22 inthis, it's just that at the present time 22 having to meet islessthan 10 megawattsin
23 you do infact have more capacity and more 23 any year?
24 energy capability than you need to meet the 24 A.Wdll I think in oneyear it's 11, but more or
25 load in 20047 25 less.

Page 59 Page 60

1 Q.It's11in20107? 1 | mean, it isa, obviously any reduction or

2 A Yes 2 conservation effortswill beaplus for the

3 Q. But up until that point, this - 3 expansion of the system. If you slow it down,

4 A Therearevery small increases inthe demand 4 it'sa lower per unit for power to all our

5 growth, yes. 5 customers.

6 Q. Okay, and looking over ontheenergy side, 6 Q. Andontheenergy side, the growthisfairly

7 generally speaking we're looking at not much 7 small aswell?

8 more than 50 gigawatt hours of growth in any 8 A.Yes, .6 percent, it'snot great, not big.

9 year? 9 Q. Sowould you agreethat thisis a particularly
10 A.Moreor less, yes. 10 good timethen to bepursing Demand Side
11 Q. Andit'sfor that reason | asked you to do the 11 Management issues?
12 calculation leaving out the effect of Voisey’s 12 A.Itwould be--I’'m not sure about Demand Side
13 Bay, sowe comedowntoa.6 percent growth 13 Management issues, it certainly would be an
14 rate over the next 9 years, shall we say? 14 appropriate time to--it would be an ideal time
15  A. That’scorrect and on the energy requirements. 15 to curtail the growth of electric heat or hot
16 Q. The number you gave usthis morning. In that 16 water systems. | don’t think that you would
17 context, Mr. Haynes, do you not feel that this 17 actually get alot of people to convert, but
18 isaparticularly valuable time for Hydro to 18 on new construction there would be some merit
19 be looking at Demand Side Management’stools, |19 into slowing that down, yes, because it would
20 giventhat a saving of a40 or 50 megawatts 20 actually slow--our projections of the load
21 off the peak could account for four or five 21 forecast are based on, you know, afairly high
22 year’sload growth? 22 proliferation of electric heat and then, as
23 A.If you shave 45 or 50 megawatts off the peak 23 Mr. Wells hassaid, that is the choice of
24 and you do not affect the energy in any great 24 consumersand it isa fairly big element,
25 degree, | mean, you have to look at the whole, 25 other than Voisey’s Bay hydromet facility isa
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1 MR.HAYNES: 1 general sense, can you outline to us what the
2 significant driver of theload growth in our 2 revisions proposed by Hydro for the assignment
3 system. 3 of plant are today, compared to what they have
4  Q.Thank you, Mr. Haynes. Those are my 4 donein the past?
5 questions, Mr. Chair. Mr. Seviour will now 5 . If you go back anumber of years, if you go
6 address the plant assignment issues. 6 back prior to the last hearing, the generation
7 CHAIRMAN: 7 on the GNP was assigned common. We had
8 Q. Good morning, Mr. Seviour. 8 proposed in the last GRA to make the
9 MR. SEVIOUR: 9 transmission on the Doyles/Port aux Basgues
10 Q. Good morning, Mr. Chairman. Good morning, Mr. 10 system and the GNP, as well asthe Burin to be
1 Haynes. Mr. Haynes, it's my happy task to get 1 common as well because of the interconnected
12 into plant assignment matters with you and | 12 generation. Inthe Board Order P.U.7 that was
13 wonder if we could turn up your exhibit JRH 13 not accepted and we were asked to go back and
14 No. 3, and if you could turn to page 23, 14 undertake this study to review the generation
15 please? And Mr. Haynes, could you read the 15 and transmission of al of those systems,
16 first sentence under the heading "Conclusion"? 16 which we have subsequently done, and the
17  A."Based on thisreview of the valueof the 17 significant change that we're asking for or
18 Great Northern Peninsula generation and 18 that we are seeking inthis filing, as we
19 transmission assetsand of the value of the 19 think we have amply demonstrated, isthat we
20 Doyles/Port aux Basques and Burin Peninsula 20 do not propose to include the GNP transmission
21 transmission assets to the Island 21 as common, but wedo strongly recommend that
22 Interconnected System, Hydro proposes a 22 the generation plant under GNP be considered
23 revision to the guidelines for the assignment 23 as a common assignment because it benefits all
24 of plant.” 24 customers.
25 Q. Perhaps| can get you to stop there. In every 25 Q. Thank you, and that’'s the one significant
Page 63 Page 64
1 department on plant assignment that is made 1 change. And perhapsit would be useful at
2 from the submissions made in P.U.7 hearing. 2 this point to turn up P.U.7, page 112. And as
3 (10:30 am.) 3 | understand it, the second and third
4  A. Other thanthe changes because of Granite 4 paragraphs that appear on this page relates to
5 Canal and the other things which are 5 the approach that Hydro took before this Board
6 generaly, | don't think are in dispute, our 6 in 2001 in plant assignments, both in respect
7 filing--our GRA that we havefiled for this 7 to generation and transmission. | just wonder
8 particular hearing doesnot have the GNP 8 if you could read for the record the third and
9 generation as common, but we are proposing to 9 fourth paragraph to kick off this discussion,
10 incorporate that in our final filing. 10 please?
11 Q.| wanttocometothat in just amoment, Mr. 11 . Starting at "Newfoundland and Labrador Hydro
12 Haynes, but at this point for the assistance 12 has proposed"?
13 of counsel and the Board, | would like to 13 . Yes.
14 focus on the guideline issues. Y ou're the one 14 . Okay. "Newfoundland and Labrador Hydro has
15 who has presented the guidelines in your 15 proposed in this Application that generation
16 evidence asto the appropriate principles 16 and associated transmission assets on the GNP
17 whereby there would be common plant assignment 17 be assigned as common, consistent with the
18 and specifically assigned plant judgments 18 Board's 1996 recommendations.  1C-215
19 made, and in fact, | think you’ re the one who 19 described the guidelines that Newfoundland and
20 makes those recommendations for Hydro. So | 20 Labrador Hydro has proposed in order to apply
21 understand the outcome of the proposal and | 21 the Board's’96 recommendations consistently
22 understand the change that’ s been proposed by 22 across the Island Interconnected System. In
23 Hydroin thisGRA, but | want to turn for a 23 its guidelines, NLHis proposing that in
24 moment just to the issue of the guidelines 24 situations where transmission and terminal
25 that underlie those recommendations and that 25 station equipment connect a single customer
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Page 65

1 MR. HAYNES:

and remote generation to the grid, that the
transmission and terminal equipment would be
assigned common, if, under any normal
operating scenario, the output of the remote
generation can be delivered to the 230 kV
grid. " 1c-215, page 3.

Q. And perhaps | can just stop you there, and Mr.

O'Reilly, if we could just bookmark that page

© 00 N o ok~ WODN P

Page 66
Haynes.

A.Yes.
Q. And just for the record, would you read that

please?

A. "Thefollowing facilities will be assigned as

common plant: all of Hydro's transmission and
terminal station plant that connects asingle
customer in generation or voltage support
equipment that isof substantial benefit to

10 and come back to itin amoment, but here 10 more than one customer."

11 we're dealing with the transmission and 11 Q. Thank you, and Mr. O'Rellly if we could flip

12 terminal station equipment assignment, and | 12 back to page 112 of P.U.7? Soagain, the

13 wanted to flip back to your page 18 of your 13 paragraph that’sin the center there isthe

14 JRH 3 exhibit, if | could, to compare that 14 one you just finished. The principle of

15 guideline with what in fact is being proposed 15 assignment to common--referring to the last

16 inthis hearing? And under the heading 4.1 16 two lines, if under any normal operating

17 "Transmission Allocation Guideline”, | 17 scenario the output of the remote generation

18 understand the italicized part of that 18 could be delivered to the 320 kV grid, that no

19 paragraph to represent the current proposed 19 longer isrelevant to this discussion, is that

20 guidelines that Hydro seeksto apply in this 20 correct?

21 hearing with respect to the assignment of the 21 . No, we have not looked at it that way, we have

22 transmission and terminal station plant? 22 looked at the substantial benefit and | think

23 . Yes, | believe that’s correct, yes. 23 the distinction is under transmission assets.

24 . Perhaps you might just want to read the 24 Q. Sorry?

25 context of it, | want to be sure on this Mr. 25 A. Thedistinction is on the transmission asset,
Page 67 Page 68

1 the generation is still of substantial benefit 1 that page?

2 toall customersand basically what we are 2 A."Common plant isdefined as plant that is of

3 proposing is the transmission may not 3 substantial benefit to more than one firm

4 necessarily be so. 4 customer. Costs for common plant are assigned

5 Q. And maybewe can dea with generation by 5 to all customers of the system. The following

6 asking you to read the second paragraph that | 6 facilities have been assigned as'--

7 initially referred you to, which starts, "NLH 7 Q. That'senough, | think it’s just the principle

8 further declined"? 8 | wanted to bring before the Board, Mr.

9  A."NLH further declined the guideline by putting 9 Haynes, thanks. And Mr. O’ Reilly, if we could

10 forward a test that if under light load 10 get back to page 112? Andthe difference

11 conditions the combined generation of the 11 between the common plant assignment for

12 radial line exceeded the radial load, the 12 generation that is found in the present

13 assetswill beassigned common. This test 13 Application, compared to the one in the

14 would apply to radio systems on the Island and 14 paragraph we just read, we' ve omitted the test

15 in additionto the assignment of the GNP 15 that if under light load conditions the

16 assetsto common, result in reassignment of 16 combined generation on the radial line exceeds

17 the Doyles/Port aux Basque's system from 17 the radial load, the assets would be assigned

18 Newfoundland Power specifically assigned to 18 to common. So that test isnolonger the

19 common and confirm the existing assignment of 19 relevant test, is that correct?

20 the Burin Peninsula to common.” 20 A. That'scorrect.

21 Q. Thank you. Mr. O'Reilly, againif you could 21 Q. Andarewe totakeit that by replacing the

22 hold your place on that, we could go back to, 22 teststhat you seefor generation and for

23 inthis case, page 23 of Mr. Haynes' JrRH 3, 23 transmission and terminal station assignment

24 and I'm going to ask you to read the 24 in P.U.7, with the substantial benefit test,

25 definition of "common plant” that appears on 25 isthat perceived to be a higher threshold in
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1 MR. SEVIOUR: 1 soit ended up common or whatever. Inthis
2 your view? 2 particular case, we look at thewholeand it’s
3 A. Canyoujust repeat that, I’ m sorry. 3 abit more subjectivein the sense that you
4 Q. Weveseena changeinthe two transmission 4 consider the size of the generation and so on.
5 and generation assignment principles or tests 5 Soit’sless onerous, | would think, it’sless
6 or approaches that we' ve seen used by Hydro in 6 specific, abit more subjective now than it
7 the 2001 and the present hearing and I'm 7 was in the past.
8 asking you if the current test which movesto 8 Q. ltcalsfor the engagement of more judgment
9 asubstantial benefit test for assignment of 9 and consideration, isthat fair?
10 plant to common, is that seen by Hydro to be a 10 A.Yes, and you would consider the whole
11 higher standard than which was used in 20017? 11 transmission system and the generation
12 A. I think you have to answer the question from-- 12 location and the history.
13 separately for transmission and generation. 13 Q. Okay. And we'll cometo that injust a
14 For generation, the criteria is--the results 14 moment, but do | understand you to say that
15 arethe same. | guess at al generation, 15 any, in principle, applying the substantial
16 whether it’s connected into the radial line or 16 benefit test for common plant assignment
17 if it'sin the middle of the 230 kV system, is 17 purposes that any generations that
18 used and useful and of substantial benefit to 18 interconnected to the grid would, in fact, be
19 al customers. The transmission linetest is, 19 of substantial benefit to all customers that
20 | mean, | guess the allocating plant is not a 20 are serviced by that grid?
21 "science”, thereare alot of flexibility of 21 . Youwould haveto temper it by how long it
22 interpretation and history and so on. And the 22 takes to get it on and the availability to the
23 test that we have proposed in the last hearing 23 system. | don't think you'd get down into,
24 wasalot lesssubjectiveinthe sensethat 24 you know, some very small generation that
25 you did the test, it either passed or failed, 25 somebody could actually put on for, you know,
Page 71 Page 72
1 through some exceptional effort, but by and 1 And could you read the guideline respecting
2 large, most of the generation or basically or 2 specifically assigned plant for the record.
3 al the generation that is assigned and 3 A Specificaly assigned plant is defined as
4 considered inour calculations are either 4 plant as a benefit to only one customer, cost
5 remote controlled or have operatorsin the 5 for aspecifically assigned plant are assigned
6 immediate areawho can actually do that fairly 6 directly to the benefitting customer.
7 quickly, whether it’s us or Newfoundland Power 7 Q. And finaly | wantto turn back to the
8 or whomever. 8 beginning of thispage, the second sentence,
9 Q. So, there are judgment exercises that need to 9 where we're talking about the revisions to the
10 be brought to bear on the question of whether 10 guidelines for the assignment of plant and you
11 or not generation plants should be assigned to 11 say, "these revisions reflect the requirement
12 common, even if itsinterconnected to the grid 12 that each component of plant be assigned to
13 for the province. Is that what | can 13 customersin afair and equitable manner".
14 conclude? 14 And| wanted to get your thoughtson that
15 A.Yes, andthe reason that | said that is 15 particular requirement that you referenced in
16 because there are other generators that are 16 your evidence that the plant assignment be
17 out there and, you know, customers that are 17 doneto customers ina fair and equitable
18 two or three tiers down and so on, which are 18 manner. How does that principle apply to the
19 not part of the exercise and they are remote, 19 guidelines that we've just looked at for the
20 if you--not remote, but they are not generally 20 assignment of common plant and specifically
21 available between our Control Centres or 21 assigned plant?
22 between, for instance. 22 .1 think that--1 shouldn’t say | think--that
23 Q. Just before leaving this discussion of 23 it'sour, itisour view that, for instance,
24 principles and guidelines, if | can take you 24 the generation isof benefitto everybody.
25 back, please Mr. O’ Reilly, to page 23 again. 25 Therefore al customers contribute to its
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1 MR. HAYNES: 1 assignment, in your judgment?

2 operation, maintenance, et cetera.  For 2 A.Yes itis.

3 facilitiesthat are of benefit to only one 3 Q Thank you. | want to finish in this

4 customers, be it atransmission lineor a 4 discussion by just stepping back a second.

5 transformer and there is not benefit to any 5 You'rean electrical engineer by profession

6 other customer, that is specifically assigned. 6 and that's, | think, the tenor of most of your

7 It does not mean to say that you cannot have 7 evidence herein the past couple of days, is

8 common plant that is behind this specifically 8 that correct?

9 assigned asset, such asa transmission line 9 .Yes, I'm an electrical engineer.
10 because the generation, as we' ve shown in the 10 . In terms of the plant assignment exercises, do
11 report, isusualy useful for everybody’'s 11 | understand that thisis something that is
12 benefit. 12 done by your department or isthis done by
13 Q. Andwe'll cometo adiscussion on that in just 13 your department in conjunction with other
14 amoment. | guess|'m still at the level of 14 departments and/or executive membersin Hydro?
15 principle, Mr. Haynes. And I’ m trying to get 15 . The primary review of the plant assignment is
16 asense, in terms of the approach that’s taken 16 initially done in System Planning. They
17 and these assignment issues. Isit fair for 17 basically design the system and so on and they
18 usto conclude and the Board to understand 18 are quite involved in the--not necessarily in
19 that in making assignments of plant, there 19 the allocation of plant, but in designing the
20 must be an overriding principle that the 20 system to meet the customer needsand in the
21 assignment be made to customersin afair and 21 best position to assesits value, if you will,
22 equitable manner asyour evidence seems to 22 you know, and who benefits.
23 state here? 23 Q. And, of course, the Systems Planning people
24 A Yes. 24 report to you?
25 Q. Andisthat afundamental principle of plant 25 A.They do.

Page 75 Page 76

1 Q. Andisthat primarily an engineering analysis, 1 consideration, but it does not actually change

2 afunction analysis? 2 whether it should be or whether re recommended

3 A Primarily engineering is--the System Planning 3 a common or assigned. We try to stay--I

4 department do a lot of technical studieson 4 shouldn’'t say wetry, in our opinion, wetry

5 load flows and so on, asdo the Operations 5 to stay pretty pure onthat. It'seither it

6 people obviously, have a good feel, if you 6 isn'tor itis not a benefit and the cost

7 will, for the way the system operates. The 7 implications, they obvioudly fall out of that.

8 Planning people would have been most involved 8 Q. S0, if | understand your view of the process

9 inthe actual design of the system and the 9 correctly, then thisis a systems analysis, an
10 justifications for lines and generation and 10 engineering analysis to determine whether, by
11 whether generation should be installed. You 11 application of the principleswe looked at, a
12 know, a lot of the remote generation, 12 piece of plant should be common or
13 obvioudly, ishistorical, it wasinstalled for 13 specificaly assigned without regard to the
14 aparticular time. And aswe interconnect 14 cost impact on customers?
15 systems, it is now of benefit to everybody. 15 . We do not--that does not play in any mgjor way
16 Q. Inthe process of coming to recommendationsto |16 from the point of view of where we assign--
17 the Board in this hearing for common 17 wherewe think a plant should be assigned.
18 assignment or a specific assgnment, does 18 It'sbasicaly based on benefit. Do they
19 Hydro consider the cost implications to 19 benefit and therefore, the cost of service
20 customerswho may be affected common plant |20 would actually allocate the cost from there.
21 assignment? 21 Q. So, the assignment based on a fair and
22 A.Weare conscious of thecost, but when it 22 equitable manner or fair and equitable
23 comes down to the philosophy and the fair and 23 principles approach doesnot, in your view,
24 equitable treatment, that’ s an outcome of the 24 really extend to an assessment of the costs
25 results. It's not a-it's obviously a 25 impact to customers on common or specific
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1 MR. SEVIOUR: 1 of the assignment issuesfor GNP. And asl
2 plant assignments? 2 understand, we' re dealing, the top left hand
3 (10:45am.) 3 corner of the page, with three diesel plants
4  A.l would say no, that is a separate issue. 4 and one hydro plant with an aggregate capacity
5 Q.| wantedto started with the GNP assets and 5 of 15.1 megawatts for the GNP transmission.
6 talk briefly about them. | understand from 6 Do | havethat correct?
7 P.U. 7 that these were interconnected in 1996 7 A.That'scorrect.
8 at acost of approximately thirty one and a 8 Q. And for the GNPinterconnection, these are the
9 half million dollars. Is that consistent with 9 transmission lines and associated stations.
10 your understanding? 10 We have atotal of eight transmission lines,
11 A. 1996, if | recall, thedollar soundsright, 11 isthat correct?
12 but | - 12 A.Yes, that's correct.
13 Q. Maybe wecould justturn that up for the 13 Q. And the voltages are as they’ ve been set out.
14 record, it's page 110 of the P.U. 7 and the 14 | think you already mentioned that in 2001,
15 first paragraph there, | think, that we see a 15 Hydro recommended the assignment of both
16 statement on the fourth line, third/fourth 16 generation and transmission as common. Now,
17 line, "the GNP interconnection was completed 17 that recommendation was not accepted by the
18 in"96 ata cost of $31,418,995.00." You 18 Board and | just want to begin this discussion
19 accept that? 19 by returning to the Board's finding and
20 A.Yes. 20 disposition on that point and that’s found at
21 Q. Thank you. Canl turnup RH 3, page 5, please 21 P.U. 7, pages 112, 113. Perhaps the bottom of
22 Mr. O'Reilly. Thanks, canweget the whole 22 page--can I--yes, that's perfect, Mr.
23 screen on the--thank you, that will be fine, 23 O'Reilly. | wantto read tothe record or
24 Mr. O'Reilly. 1just wanted to begin with 24 have you read to the record, the disposition
25 understanding what we're dealing with in terms 25 of the Board in 2001 onthis issue. And
Page 79 Page 80
1 perhaps start at the very top of the page 1 annual generation compared to the average
2 where it says, "the Board has insufficient”. 2 annual load for the GNP. Am | correct in my
3 Q. "TheBoard hasinsufficient evidence to accept 3 conclusion that | can undertake that exercise
4 NLH'sproposed changein assignment of GNP 4 with this exhibit?
5 assetsto common. Whilethe GNP generation 5 A.Yes, thetotal generation and the annua load
6 can exceed the radial load under specific low 6 on the GNP are the two columns on the right.
7 load conditions, itis not clear that this 7 Q. Andby my math, Mr. Haynes, when | took the
8 scenario would actually provide any benefit to 8 average of total generation, the second last
9 the Island interconnected customers since this 9 column against the average of the annual load
10 is not when the generation will be needed by 10 in the last column, | got figures which
11 the system. 1C 128 shows that the annual 11 yielded a 2.7 percent figure. In other words,
12 generation from GNP assets has constituted, on 12 that the annual generation from GNP assets for
13 average, lessthan three percent of the GNP 13 the period '97 to theend of 2002 was on,
14 annual radial load since interconnection with 14 average, actually lessthan 2.7 percent of the
15 the St. Anthony and the Roddickton diesel 15 GNP average annual radial load. And my
16 plants operated only for plant and forced 16 figures, just for the record on that were an
17 outages'. 17 average total generation of 1363.5 megawatts
18 Q. That'sfine, thank you. And interms of the 18 divided by an average annual load of 52,104
19 percentage of average generation from the GNP 19 megawatt hours. 1'll leave with that--does
20 assets, I'mgoing to takeyou to another 20 that sound about right?
21 percentage there, in the finding, wasthree 21 A. It soundsreasonable, yes.
22 percent. 1’m going to take you to I1C 87 NLH. 22 Q.Okay. Andinreferring to the year 2002, the
23 And as| understand it, Mr. Haynes, this 23 figure was, in fact, evenless than that
24 exhibit will allow the calculation of the 24 reflected just for 2004, a use or a generation
25 percentage of annual generation of the average 25 from the GNP assets of about 2.4 percent of
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1 MR. SEVIOUR: 1 whether or notit’s appropriate to treat
2 the GNP load for that particular year. So, in 2 generation differently than associated
3 fact, the three percent figure which the Board 3 transmission for assignment principles, are
4 referenced in its P.U. 7 judgment, if you 4 you aware of that?
5 accept my math, isnow in fact, lessthan it 5 A.Yes.
6 was in 2001. Subject to my math being 6 Q. And Hydro concludesthat thisisfine, thisis
7 correct, do you agree with that? 7 okay in principle, isthat correct?
8  A. Subject to your math being correct, yes. 8 A.Wehave nodifficulty with, as| mentioned a
9 Q. Thank you. Now, the Board' sdirection to 9 few minutes ago, that we do not, following
10 study the value of GNP assetsto theisland 10 thisreview, we do not propose or think that
11 system, that is JRH 3 and that’ s the exhibit 11 because a generation asset is common, that the
12 we' ve been looking at. 12 interconnecting transmission must be common.
13 A. That’scorrect. 13 They can be treated separately.
14 Q. Andisthisyour exhibit, your document you've 14 Q.I'dlikeyou totakethe Board to the basis
15 created? 15 for that conclusion and | think it’s found at
16 A.ltwas created through my division, through 16 pages 19 and 20 of your exhibit RH 3. And for
17 Production Division. 17 the record, | wonder if you could read what |
18 Q. But you take responsibility for it? 18 understand to be Hydro’ s position on starting
19 A.ldo. 19 with "there are two key factors'.
20 Q. Andaconclusion, asyou' ve mentioned, is that 20 A."Thereare two key factors to consider in
21 the generation should be assigned common from |21 determining if generation and the connecting
22 GNP, but the transmission should be assigned 22 transmission and terminal station assets could
23 specifically to Hydro rural? 23 logically be assigned differently. Planning
24  A.That's correct. 24 basis, the application of generation planning
25 Q.RHdeds, a one point, with theissue of 25 criteria as outline previousy does not
Page 83 Page 84
1 consider the location of individual generation 1 they are of common benefit to all customers.
2 assets on the system. The only consideration 2 Many of these generation assets are located
3 at this stage of the planning processiis that 3 well within Newfoundland Power’s service
4 the generation assetsmust be capable of 4 territory with a connecting transmission and
5 delivering capacity and energy to a system and 5 distribution lines owned and paid for by
6 thus, the system be capable of utilizing that 6 Newfoundland Power’s customers. Therefore,
7 capacity when needed. The process of planning 7 this treatment of Newfoundland Power’ s thermal
8 the transmission system focuses on the ability 8 generation assets in the coswhich hasbeenin
9 to maintain acceptable voltages, reliability, 9 place since the 1970s would support the
10 stability throughout the system. Transmission 10 position that transmission assetsneed not
11 facilities must be adequate to connect 11 necessarily be allocated in a same manner as
12 generation to thegrid and to serve the 12 remote generation assets, they connect to the
13 requirements of customers connected to the 13 interconnected system.
14 grid. Generation is not assigned to specific 14 Q. Perhaps conclude with the final paragraph?
15 customers and a manner in which it is 15 A."The concluson drawn is that remote
16 dispatched is depended only on the cost and 16 generation and the connecting transmission and
17 system loading considerations'. 17 terminal station assets could logically be
18 Q.| think that the discussion concludesin the 18 assigned differently in the cos. Further, in
19 paragraph on the next page and perhaps for the 19 their final submission to the Board in the
20 record, you can read that as well. 20 2001 GRA at page 32, the Industrial Customers
21 A."Thecost of service, treatment of similar 21 agree that an inconsistency would not exist
22 assets providing Newfoundland Power with a 22 were the GNP generation assets assigned
23 demand credit, particularly for the thermal 23 differently-- GNP generation and transmission
24 generation acknowledges the benefit that these 24 assets assigned differently”.
25 assets bring to the interconnected system, ie. 25 Q. Thank you, Mr. Haynes. Now, can you confirm
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1 MR. SEVIOUR: 1 aware of the EES report and the
2 to the Board that Hydro’ s recommendations with 2 recommendations made by the Board's
3 respect to the assignment of generation and 3 consultants?
4 transmission for the GNP are similar to the 4 A Yes, I'veread the report.
5 recommendations made with respect to the 5 Q. And perhaps we can turn that up, Mr. O’ Reilly,
6 Doyles/Port aux Basques system. 6 it's page 4 of EESreport. And if you could
7 A.Yes, they are. The transmission assets on the 7 just scroll down. I’'m sorry, I'm at page 4,
8 GNP, we recommend to be assigned to Hydro 8 in the summaries, perhaps you could scroll--
9 rurd. The transmission assets, although its 9 therewe go. Thanks. In thefourth bullet,
10 Port aux Basques, we recommend to be assigned 10 the fifth bullet, the summary of EESs
11 to Newfoundland Power, the generation on the 11 recommendations, they discuss the assignment
12 GNP, we recommend common and the generation on 12 and they say GNP Doyles/Port aux Basques and
13 the Doyles/Port aux Basgues would be included 13 Burin Peninsula assignments should use a
14 in the credit arrangements or the calculations 14 consistent assignment methodology for the
15 for Newfoundland Power. 15 generating and transmission facilities. And
16 Q. So, they're realy two systems where you've 16 detailed study has found great benefit to all
17 got recommendations from generation to be 17 customerson the Island interconnect system
18 assigned common and transmission to be 18 from the generating resources and therefore,
19 assigned, specifically assigned. 19 assigned these resourcesas common. The
20  A.Inessence, yes. 20 methodology used to assign these associated
21 Q. So, they're two applications of this principle 21 transmission facilities should be similar.
22 that we just discussed. 22 The common system cannot get the benefit of
23 A.Yes, andthey are, you know, smaller amounts 23 the generation resources without the
24 of generation basically on radial lines. 24 transmission facilities. So, | understand EES
25 Q.Andjustto conclude on thispoint, areyou 25 to be recommending that however the approach
Page 87 Page 88
1 is undertaken, that the generation should be 1 actually cover off acouple of our reliability
2 assigned in the same methodology or the same 2 targetsby dispatching that generation to a
3 manner as the transmission. Do you 3 radial system. You do provide them some
4 understand that to be the case? 4 reliability and back up and you still meet
5 A. That's EES s recommendation, yes. 5 your LOH criteria.  So, we're quite
6 Q. Andwe'll have achance to discussthat with 6 comfortable that what we have proposed is
7 them, but can you confirm that Hydro's 7 sound and reasonable.
8 position and Hydro's recommendations 8 Q. Thank you, Mr. Haynes. Mr. Chairman, I'm just
9 respecting plant assignment that are found in 9 about to undertake anew area. I’'m inyour
10 your exhibit RH 3and in your evidence have 10 hands as to whether this would be an
1 not changed by reason of EESrecommendations? |11 appropriate time for -
12 (11:01am.) 12 CHAIRMAN:
13 A. No, they have not. We don't share that view. 13 Q.| think it would, Mr. Seviour, yes. Thank you
14 | could, froman overall system planning 14 very much. We'll reconvene at 11:30 am.)
15 perspective, a small example would be that if 15 (BREAK - 11:30 a.m.)
16 we had the--if we needed to install, for 16 (RESUME - 11:30 a.m.)
17 instance, through our examination and our 17 CHAIRMAN:
18 studies that we needed a ten megawatt peaking 18 Q. Theyoung men are still here. They'll be
19 plant some place and the easiest thing to do 19 commended.
20 from the point of view of keeping this clean 20 HUTCHINGSQ.C.:
21 and simple would beto instal it at, say, 21 Q. Still awake, Mr. Chairman.
22 Hardwoods or Stony Brook or whatever. When {22 CHAIRMAN:
23 you look at the whole system and you look at a 23 Q. Mr. Seviour, when you're ready, please.
24 radial line and the GNP, Doyles, Port auix 24 MR. SEVIOUR:
25 Basques, Burgeo or whatever, then you would 25 Q. Thank you, Mr. Chairman. Mr. Haynes, | wonder
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1 MR. SEVIOUR: 1 originally constructed to serve the Isolated
2 if we could begin by discussing the GNP 2 System, as aresult of the interconnection now
3 transmission assignment, and | want to take 3 serve as a reserve capacity to the
4 you to JRH-3, page 20, which deals with 4 Interconnected System. While a benefit to al
5 Hydro's recommendation on that point, and 5 customers, these generation assets are not of
6 under the heading "Proposed Transmission 6 sufficient magnitude, in Hydro’s opinion, to
7 Assignment” could you read the section that 7 justify an assignment of the GNP transmission
8 begins "GNP transmission assets' for the 8 assets to common, given the dominant use of
9 record? 9 the transmission system in serving that
10 A."GNP transmission assets. The GNP assets 10 customer group. Therefore, while cost
11 clearly follow the assignment guideline 11 assignment is amatter of judgment with many
12 associated with the connection of a single 12 issues and no absolute answer on balance,
13 customer, Hydro Rural, and the remote 13 Hydro' sinterpretation of the guidelines would
14 generation or voltage support equipment to the 14 result in a recommendation that the GNP
15 Island grid. Prior to 1996, transmission on 15 transmission assets be specifically assigned
16 terminal assets on an GNP up to and including 16 to Hydro Rural "
17 Bear Cove terminal station were specifically 17 Q. Thank you, and doesthat mean that applying
18 assigned to Hydro Rural. An examination of 18 the principles or the guidelines that we
19 therationale for the 1996 expansion of the 19 earlier looked at, that we can conclude that
20 transmission system to Interconnected 20 in Hydro’ s view, the GNP transmission is not
21 previoudly Isolated St. Anthony Roddickton 21 of substantial benefit to the grid?
22 system clearly indicates that the transmission 22 A.Thetransmission, yes, that’s correct, it's
23 system was constructed for the benefit of 23 not a substantial -
24 customers onthese Isolated Systems. The 24 Q. Andthereason that it'snot of substantial
25 generation assets on the GNP, which were 25 benefit to the grid is because the GNP
Page 91 Page 92
1 generation is not of sufficient magnitude? 1 the grid and should be assigned to Hydro Rural
2 A.No. TheGNPgeneration, 15.1 megawatts, is of 2 is because the generation on the GNPthat is
3 sufficient magnitudeto be abenefit to all 3 interconnected is not of a sufficient enough
4 customers, but the transmission connecting is 4 magnitude.
5 primarily for the purpose of Rural. The 5 A. That isone of the primary reasons, yes.
6 generation is of use. 6 Q. Isthere another reason?
7 Q. Yes But | understand your conclusion that 7 A.The transmission--the justification for
8 the transmission is not to be assigned common 8 interconnecting the St. Anthony Roddickton
9 because it’ s not of substantial benefit to the 9 system was the subject of a cost benefit--you
10 grid is because the generation that's 10 know, a net present worth evaluation, which
11 interconnected by that transmissionis not 11 basically justified the interconnection based
12 large enough? 12 on the government, the Federal government
13 A.It's not asignificant number. It's 15 13 grant, and it was an economic thing to do for
14 megawatts. 14 Rural and so on. The generation was
15 Q.Yes 15 interconnected to the system at the time and
16  A. Butitisof benefit to all customers. 16 is of benefit, but the transmission is of no
17 Q.No, | understand your position on the 17 significant value per se to the common system.
18 generation, Mr. Haynes. Don’'t misunderstand 18 Q. That'san historical circumstance?
19 me. What I'm just trying to get afix on and 19 A It'shistorical, yes.
20 to be precise about it, is the basis for your 20 Q.Yes. Thank you. Thank you for that. I'm
21 conclusion that the transmission isnot of 21 going to ask you to turnto page 24 of JRH-3
22 substantial benefit to thegrid, andif | 22 now and ask you if Hydro's position with
23 misunderstand you, correct me, please, but | 23 respect to the assignment of the GNP
24 would understand that the reason that the 24 transmission to Hydro Rural is also consistent
25 transmission is not of substantial benefit to 25 with the Hydro Rural sub-transmission
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1 MR. SEVIOUR: 1 as the conclusion and approach taken with
2 guideline for assignment of plant? Perhaps 2 respect to the GNP?
3 you can read that for the record and then 3 A.Yes it-
4 address the question. 4 Q. lsthat -
5 A."TheNPIC sub-transmission - 5 A -it'ssimilar. There'sonly one customer,
6 Q. No, sorry, the Hydro Rura sub-transmission. 6 Newfoundland Power, and the generation is not
7 A.I'msorry. My apologies. "Hydro Rural sub- 7 of significant magnitude to warrant the
8 transmission is defined asall transmission 8 transmission being common.
9 and terminal station plant serving only Hydro 9 Q And perhaps you could just read the
10 Rural rate classes." So it’s consistent. 10 disposition at page 21 respecting Doyle/Port
11 Q. AndisHydro' sconclusion and recommendation |11 aux Basque please?
12 of assignment of the GNP transmission to Hydro 12 A. The Doyl€ s/Port aux Basgues. "Similar to the
13 Rural also consistent with that assignment 13 GNP, the transmissions assets of the
14 guideline? 14 Doyle/Port aux Basgues system fall under the
15 A.Webelieve so, yes. 15 assignment guideline associated with the
16 Q. Andthat isn't expressed inthe passage we 16 connection of a single customer, Newfoundland
17 just looked at, but that’ s another reason, is 17 Power, and remote generation or voltage
18 it not, for the assignment of the GNP 18 support equipment to theisland grid. As
19 transmission to Hydro Rural? Isthat fair? 19 well, like the GNP transmission assets, the
20 A.Yes, that's correct. 20 primary purpose of the Doyle s/Port aux
21 Q. Thankyou. And justto closetheloop on 21 Basques transmission assets is to provide
22 this, for therecord, your approach with 22 serviceto Newfoundland Power customers on
23 respect to the transmission on the Doyle/Port 23 that radial system. This position is further
24 aux Basgues section of the Island 24 supported in the previous Board decisionsin
25 Interconnected System is pretty much the same 25 which these transmission assets were
Page 95 Page 96
1 specifically assigned to Newfoundland Power. 1 there’'snot much beforethe Board on that
2 The generation assetsaso located on that 2 implication. Can | ask, Mr. O’ Reilly, to turn
3 radial, while of benefit to al customers, are 3 up 1c-345? And thisic, as| understand it,
4 not of sufficient magnitude, in Hydro's 4 asksfor the identification of the costsin
5 opinion, to justify assignment of the 5 the test year 2004 Cost of Service for the GNP
6 transmission assets to common, given the 6 transmission line, which under Hydro's
7 dominant use of the transmission system in 7 recommendation is assigned to Hydro Rural.
8 serving that customer group. Therefore, on 8 Areyou familiar with this RFI?
9 balance, Hydro's interpretation of the 9 A Yes
10 guidelineswould result in a recommendation 10 Q. And thisindicates the calculation of the
11 that the Doyle 5/Port aux Basques transmission 11 average plant in service and average net book
12 assets be specifically assigned to 12 value for those assets, and putsthem in the
13 Newfoundland Power." 13 range respectably of $73,120,423 average plant
14 Q. Andthe Doyle/Port aux Basgues generationisa |14 in service and $58,950,414 for average net
15 magnitude similar to that of the GNP? 15 book value. Isthat correct?
16 A.Yes, | believeit's 15.8 megawatts and GNP was 16 A.Yes
17 15.1, | believeitis. 17 Q. And these reflect the asset values which
18 Q.| wanted to conclude on this area by 18 presently are assigned to Hydro Rural in the
19 discussing the implications of assignment of 19 2004 Cost of Service? Do | have that correct?
20 the GNP transmission line to common, and | 20  A. That would be my interpretation, yes.
21 appreciate that that is not Hydro's 21 Q. Andif, infact, the EESrecommendation was to
22 recommendation, but it isa recommendation 22 be followed by the Board, the result would be
23 that appearsto flow from the Board’' s expert’s 23 those costs being assigned to common, for the
24 report that we looked at a moment ago, and | 24 purposes of the 2004 test year Cost of
25 wanted to address it, for the record, because 25 Service?
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1 (11:45am.) 1 acopy of 1c-180?
2 A.l would have to assume that that was 2  A.Yes | have
3 specificaly for--wouldn't include the 3 Q. Youhaveit. Thank you, Mr. Haynes. What |
4 distribution, so yes, that would be the 4 understand this1c to relate to, in the 2001
5 correct answer, interpretation. 5 GRA, is theimplications to the Industrial
6 Q. And | looked through the record on the weekend 6 Customers and Newfoundland Power of the change
7 to try to determineif | could gauge the 7 in the assignment of the 138 kV 66 kV
8 implicationsto the Industrial Customers of 8 transmission linesand associated terminal
9 that shift in cost assignment and | couldn’t 9 station equipment connecting the GNP
10 find anything on the record. In fact, | think 10 generation from Hydro Rura to common. |
1 there was an RFI directed to EES which went-- 1 guessmy first question is, that equipment
12 could not be responded to because there was 12 that’ s referenced, does that cover al of the
13 not enough on the record. | did want to take 13 GNP transmission equipment that you've
14 you to adocument, IC-180 Revision 1, filed in 14 described in JRH-3?
15 the 2001 General Rate Application. It's a 15  A. |l believe that to be the case, yes.
16 document that the clerk hasdistributed to 16 Q. Thank you. Andin 2001, the cost implications
17 counsel earlier this morning, and I’m not sure 17 for thetwo customers were respectably, a
18 if the Board hasthe document. Ms. Newman, 18 decrease of $2,000in costs for Newfoundland
19 perhaps you could indicate to me whether or 19 Power and an increase to the Idand Industrial
20 not that’ s the case? 20 Customers of $1,458,000, and my questionis
21 MS. NEWMAN: 21 whether or not you know if these figures
22 Q.Yes, it has been circulated, and we would 22 correctly reflect the implications for
23 identify it as Information Item No. 16. 23 Newfoundland Power and the Island Industrial
24 MR. SEVIOUR: 24 Customers for the 2004 test year, as opposed
25 Q. Okay. And hasthe witness been provided with 25 to the 2002 test year?
Page 99 Page 100
1 A.l wouldn't be the best one to answer it, but 1 A.ltcould defer the need for anew peaking
2 subject to Mr. Banfield providing 2 plant or to address our LOLH, yes.
3 clarification, | doubt very much that the 3 Q Andmy first questionis avery genera one,
4 numbers are identical, but | would suggest 4 Mr. Haynes. I'd like your reaction to this.
5 that the order of magnitude is approximately 5 Isthere not an inconsistency in saying that
6 the same. 6 the Great Northern Peninsula generation is too
7 Q. Okay. I'm wondering as much as the EES 7 small to require GNP transmission to be
8 recommendation has come to the Board late and 8 specifically assigned, but it is large enough
9 there has been little evidence on this, if | 9 to be of substantial benefit to all customers
10 could have an undertaking to provide the 10 of the grid?
11 updated 1c-180for the current test year, 11 A.No, | don’'tthink there's aninconsistency.
12 20047 (Undertaking) 12 It is 15 megawatts. It’'s, in the context of
13 A. Wewill--l assume that time will permit it to 13 the GNP, it is, you know, alignsfairly well
14 be done. I’m not sure how long it would take, 14 with the GNP load or it’s less than the actual
15 but that would be done by our rates and 15 peak, but with respect to the total
16 customer service people. 16 Interconnected plant that Newfoundland Hydro
17 Q. Thank you, Mr. Haynes. Thank you, I’'m going 17 has available, it still would affect the--it
18 to move on to a discussion about generation. 18 could have impact on the LOLH calculation, so
19 | think we're finished with the transmission 19 therefore, it is of meaningful value.
20 for the moment, Mr. Haynes. | understand the 20 Q. Soisittheimpact on the LOLH criterion that
21 basisfor your recommendation that the GNP 21 alows you to conclude that within the
22 generation be assigned common because it 22 guideline, the GNP generation is of
23 assists the system reliability and because it 23 substantial benefit to al customers?
24 may defer the need for new capacity? Isthat 24 A. The generation, yes.
25 afair description of - 25 Q. Okay. What isHydro's--or let me begin, does
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1 MR. SEVIOUR: 1 diesel generating stations. Are you familiar
2 Hydro have a practice, Mr. Haynes, with 2 with that application?
3 respect to the decommissioning of thermal 3 A. Not thoroughly familiar, but | am familiar.
4 generation on an Isolated System which is 4 Q.Yes. Andthisisan applicationin 1999, as|
5 subsequently interconnected? 5 understand it, that was made by Hydro in
6 A. Typicaly, theeconomic benefit, | guess. 6 relation to the decommissioning of those
7 Most of the systems that we interconnect, with 7 particular facilities and from what |
8 the exception of the GNP, which was alarge 8 understand your general evidence to be, that
9 generating capacity, are usualy very, very 9 wouldn’'t be inconsistent with the past
10 small systems, and the practice has been such, 10 practice in other isolated systems which were
11 you know, for instance, Monkstown and La 11 interconnected?
12 Poile, which had been very small systems, that 12 A. Butthat case isnot exactly the same. For
13 we would actually take that plant out of 13 instance, if we were interconnecting, you
14 service because it's very small. The 14 know, one of the smaller isolated areas. That
15 operating maintenance costs are significantly 15 was afive-megawatt steam plant which had a
16 high, and the physical location of staff would 16 significant operating and maintenance expense
17 not be asamiable to getting the equipment 17 and the economics to keep that going were just
18 back, you know, in service inless than an 18 not there. Aswell, if you were maintaining
19 hour, for instance. 19 it only to meet your LOLH, you just--you don’t
20 Q.Andcanl ask, Mr. O'Rellly, toturn upic- 20 put a button and start asteam plant. For
21 104? And my interest is really in, | think, 21 instance, Holyrood takestwo daysto get a
22 the second page of the document, which | 22 machine, 48 hours plusto actualy fireit up
23 understand to be an application by 23 and get it going. Soit would not have the
24 Newfoundland and Labrador Hydro to 24 samevalue, and that’s basicaly why it was
25 decommission the Roddickton wood chip and 25 abandoned.

Page 103 Page 104
1 Q. Thecost benefit analysis wasn'’t there? 1 this plant is sufficient to meet at least 75
2 A ltwasn't there. 2 percent of the forecast peak for the area
3 Q. Asl suspectit isnottherein most of the 3 through 2008, and Hydro has determined that
4 generating stations that - 4 thisis areasonable and prudent amount of
5 A.Onthevery smal stations. 5 backup capacity for thisinterconnected area.”
6 Q.Yes okay. Andl want to take you to 6 Q. Now what!| get fromthis application and
7 paragraph 5 of the application, which ison 7 Hydro's proposal to the Board is a couple of
8 the next page, Mr. O’ Reilly, which states "the 8 things. One, that the Roddickton diesel plant
9 Roddickton diesel plant has not been required 9 was unnecessary in 1999, in the eyes of Hydro,
10 in order to provide power to the Roddickton 10 becauseit hadn't been required to provide
11 area since the interconnection of the formerly 11 power to the Roddickton area, and | think we
12 isolated St. Anthony Roddickton system to the 12 see that in paragraph 5 of the application?
13 Island Interconnected grid." And then, 13 A. It did--following the hearing though, it was
14 paragraph 6, perhaps you could read that for 14 retained. There is a diesel plant at
15 the record, Mr. Haynes? | may have a-yes, 15 Roddickton, two 850 kilowatt units.
16 just read it out for the record, please. 16 Q.| understand that -
17 A."Normaly, upon interconnection, Hydro 17 A. Okay.
18 decommissions all diesel generation capacity 18 Q.- to be the case. Thanks for that
19 which supported aformerly isolated area. The 19 clarification, Mr. Haynes. | was going to ask
20 St. Anthony Roddickton area electrical load is 20 you about that. But what I'm getting at isin
21 situated at the end of a long radial 21 the mind of Hydro, at least in 1999, 1 am
22 transmission line. Inthiscase, Hydro has 22 concluding that Hydro's perspective at that
23 decided to retain the 8,800 kilowatts diesel 23 time wasthat Roddickton diesdl plant was
24 generation at St. Anthony as a backup 24 unnecessary?
25 generation for thisarea. The capacity of 25  A. That wasour view.
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1 MR. SEVIOUR: 1 P.U. 7 for the moment, and page 113, if we
2 Q. Thank you. And the other thing I'm getting 2 could cometo that? | wanttolook at the
3 from the paragraph 6 is that St. Anthony was 3 bolded section in that page. The last
4 perceived by Hydro to be backup generation for 4 sentence, starting at the middle of the
5 the area, at that time. |s that also afair 5 paragraph, says "the Board will require NLH to
6 conclusion? 6 undertake the necessary studies and analyses
7  A. That was apart of the rationale for retaining 7 to support the value of the interconnection of
8 the diesdl in the area, because along radial 8 the GNP assets to the grid, including:" and |
9 system. 9 broke this down intwo ways, "including: an
10 Q. Andtake amoment, if you wish to, but when | 10 assessment of the impacts on system
11 read the application, | seeno referencein 11 reliability” which | think we' ve talked about,
12 the application, again trying to understand 12 "and number two, the conditions and operating
13 what was in the mind of Hydro at the time, to 13 scenarios under which the GNP generation would
14 aneed to retain either of the diesel plants 14 be of benefit to the operation of the Island
15 as either system reserve or for peaking 15 Interconnected System.” And | think we can go
16 requirements for system capability. 16 back to JRH-3 for amoment, if we may, page
17 A.l haven't read that report in sometime, so |- 17 10, and these criteriathat we find on page
18 -if it'snot there, | assumethat it wasn't 18 10, the planning criteria relating to the
19 there. 19 energy and capacity standards. These are
20 Q. Youknow, no games. 20 essentially the reliability part of that
21 A. | have not reviewed it. 21 analysis that the Board directed in 20027
22 Q.I'vereadthe application. | don't seeany 22 A.Thatisa systemreliability. The capacity
23 reference to that. 23 would be the key consideration for the diesel
24 A.| accept that. 24 generation, 2.8 hours per year.
25 Q. Thankyou. Mr. O Reilly, could we turn up 25 Q.And these are part of the reliability
Page 107 Page 108
1 analyses, as | understand it. Is that 1 page, page 12, and this shows the scenarios
2 correct? 2 respecting the base case, which isthe current
3 A That would be part of that exercise, yes. 3 system, | think, in its forward-looking, you
4 Q Andifl cantakeyou just--1 don’'t want to 4 know, capacities for both demand and energy
5 spend much time on material that was covered 5 lessthe various radial systems we're talking
6 aready, but | just want to set up a couple of 6 about?
7 inquiries| have. Table 3.2 or 3-2, whichis 7 A.That'scorrect.
8 at page 11. We've seenthis acouple of 8 Q. Andfocusing on the GNP, this would reflect
9 times. Thisis the sameasyour Table 8in 9 that if you took the existing plus committed
10 your principal evidence, | think. 10 system less the GNP, which is the third column
11 A. That’'s correct. 11 of the table, out of the mix that your
12 Q. And this reflects that there will be a 12 capacity issue, from the base case situation,
13 capacity issue in 2011 and an energy issuein 13 would advance from 2011 to 2009 without GNP?
14 2009. Isthat correct? 14  A.That'scorrect.
15  A. That’scorrect. 15 Q. And your energy balance concern would remain
16 Q.| think you've said elsewhere in your evidence 16 at 2009, the concern? Isthat correct?
17 that the energy balance issue in 2009 is not 17 A. Theactual table does not present the energy
18 of significant enough consequence to be 18 issuefor that particular case. The energy
19 concerned about and that, in fact, there would 19 number of 61 isthe GNP, Doyl€’ s and Port aux
20 be no need to add any capacity before 2010. 20 Basques removed.
21 Isthat correct? 21 Q. So we must assume that the energy case is also
22 (12:00 p.m.) 22 still 22009 issue?
23 A.For 10 gigawatt hours, that would be our 23 A. |l would suspect it hasn’t changed.
24 approach. 24 Q. And| think that thereis a-1 won't turn it
25 Q.Yes. Moveto Table 3-3, whichis the next 25 up, but there' s 1c-398 deal s with that and
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1 MR. SEVIOUR: 1 least with respect to the removal of GNP, by a
2 confirmsit, for the record. | wanted to take 2 year?
3 you to IC-288. I'm sorry, | have that 3 A Itwould have changed that trigger date from
4 incorrectly written down. It's--bear with me 4 2009 to 2010, that’ s without the GNP but with
5 justamoment. Yes, itis288, Mr. O'Relilly. 5 the Interruptible B.
6 And thisisthe hypothetical extrapolation of 6 Q.Yes Thankyou. |Itake youtoic-399. And
7 the table we just looked at, which reproduces 7 as | understand thisic, Mr. Haynes, it refers
8 al figures assuming the availability of 46 8 to the hypothetical situation of the GNPload
9 megawatts of Interruptible B power, and if | 9 and generation being disconnected from the
10 understand the analysiswith respect to the 10 Island Interconnected System; in other words,
11 GNP, if you introduce the availability of 11 it reflects the scenario of pre-
12 Interruptible B power to the Table 3 analysis, 12 interconnection GNP transmission and
13 you have a situation where the capacity 13 generation?
14 violation occurs not in 2009, but in 2010, for 14 A.Yes
15 the loss of the GNP? 15 Q. Areyou familiar with this -
16  A. That'scorrect. 16 A.Yes | am.
17 Q. Andtheenergy, | guess, isnot realy shown 17  Q.-thisic. And asl understand thereply, if
18 here? 18 you look at page?2 of 2, in thisscenario,
19 A.No. 19 there would be no energy or capacity problem
20 Q. It'sonly shown for an aggregate of the three 20 until the year 21127
21 radial systems? Isthat right? 21  A. That'scorrect.
22 A.That'scorrect. 22 Q.And doesthis analysis alsoindicate that
23 Q.Okay. Sothat if the InterruptibleB was 23 applying the energy and capacity criteria that
24 available and you add that to the analysis, it 24 you'd used inyour JRH 3 study, thelsland
25 would have deferred the capacity issue, at 25 Interconnected System would be morereliable
Page 111 Page 112
1 without the GNP interconnection? 1 that would arise if the GNP were not
2 A.No, | don'tthinkit relatesto thelsland 2 interconnected to thelsland Interconnected
3 system being more reliable, you've added 3 grid, comparing these results to Haynes' Table
4 transmission assets, you've added generation 4 8, indicatesthat on a net basisthe GNP
5 assets, you've picked up more load. It 5 radial transmission line, including both loads
6 impacts the timing of action required to 6 and generation, have anet adverse impact on
7 maintain that reliability and criteria, but it 7 the Island Interconnected System."
8 doesn't actually make it more or less 8 Q. Perhaps| can stop you there. Can you react
9 reliable, not on areliability basis per se. 9 to that ascertain by our expertsthat there's
10 Q. Okay, I'm going to take you to the testimony 10 a net adverse impact on the Island
11 of Intergroup, the Industrial Customer’s 11 Interconnected System by reason of the GNP
12 experts, because | want you to react to their 12 radial transmission line?
13 assessment of thisevidence and if | could ask 13 A. It has affected the timing of the next
14 Mr. O'Reilly to pull up that, it's at pages 14 generation source when you look at the whole
15 32, 33. We'll start at the bottom of page 32. 15 Island Interconnected System, it does not
16 And at line 35 of the evidence, could you just 16 consider generation expansion requirements on
17 read that passage going onto theend of the 17 the Isolated System and so on, so it’ s--it has
18 first paragraph on page 33? 18 an impact on the--it obviously has an impact
19  A.On page 32 or 33?7 19 on the LOLH calculation because you remove
20 Q. 32, starting at line 35. 20 generation and load.
21 A.Thisisfrom Osler and Wilson. "As an example 21 Q. Andthat’s nota positiveimpact, in fact,
22 of the issues that must be addressed, the 22 it's--I mean, sorry, that is a positive impact
23 material in 1C-399 is instructive. In 23 inthat it deferstheviolation of the LOLH
24 particular, this response indicates the Island 24 criterion, is that correct?
25 Interconnected System, LOLH and energy balance |25  A. It affects that, but the interconnection to
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1 MR. HAYNES:

the Great Norther Peninsula system was based
on the net present value analysis and was, in
our view, the right thing todo. It had
economic benefits to the overall operation of
the system.

Q. And | think | understand that, but perhaps |

can get you to move on in the passage at line
2, if you could continue on in the discussion
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Page 114

Q. And apart from the answer you just gave us

with respect to the Pre-Interconnection Study,
do you have any other reaction to this passage
and this position of our experts?

. | think the word quality may be--1 don’t think

it affectsthe quality of service, i.e. the
reliability that we provide. It may obviously
impact the costing, as would the big driver in
2012. Thefact that we go from a figure of

10 from Intergroup. 10 2.410 7.4 and of an energy balance of 28 to
11 ."But for this radia line being 11 minus 415 is largely driven by another
12 interconnected, the Island LOLH would improve 12 potential Industrial Customer, that's where
13 to .7 hours per year, in thetest year, from 13 the Voisey’sBay load forecast comes into
14 1.1 hours per year in Haynes' Table 8 and the 14 play.
15 energy balance likewise would improve. Also 15 Q. Thank you, Mr. Haynes, | wanted to give you
16 notable the requirements for future generation 16 the opportunity to respond to that. The next
17 additionsto the ldand Interconnected grid 17 question | had relatesto your discussion of
18 would be delayed to 2012 from the currently 18 the valuation of the generation, the remote
19 forecast 2010. On balance, this type of 19 generation and that’s found at pages 13, 14 of
20 information indicates a reason for concern 20 JRH 3. And in this passage of your report, |
21 from the IC respective that cost for the GNP 21 understand that you' re trying to ascribe some
22 assetswill be assigned to the 1c Cost of 22 dollar value to the generation that’s under
23 Service, even though these costs only arise as 23 discussion, is that correct? The estimated
24 aresult of aproject that has anet adverse 24 value of generation assets?
25 impact on the IC service quality. 25 . Well, yes, what we had indicated it was
Page 115 Page 116
1 impossible to put adollar value specifically 1 peaking capacity requirements by 7 years, from
2 on the--those assets bring to the 2 2011 to 2004. This implies a simple
3 Interconnected System, but we looked for an 3 evaluation of the generation assets of some
4 indication of the valuethey bringto the 4 45.5 million. Due to the avoidance of
5 costs further on, yes. 5 capacity additionsin that timeframe, it
6 Q.| wantedtotakeyou to the bottom paragraph 6 follows that the presence of these assetson a
7 starting "However", and could you read that 7 system has had a similar impact on past
8 for the record please? 8 decisions.”
9 . "However, it is possible to get an indication 9 Q. Andmy purpose again in taking you to that is
10 of the value that these assets bring to the 10 to give you an opportunity to react tothe
11 Island Interconnected System through an 11 comments of our experts, the InterGroup people
12 examination of the costs that would be 12 at pages 33 to 34 of their report, and
13 incurred if Hydro were required to purchase a 13 starting at line 35, page 33, they have a
14 similar amount of peaking capacity today. 14 response and discuss the analysis that's
15 Based on cost estimates for a new simply cycle 15 found--that we just looked at. And perhaps
16 combustion turbine, the levelized annual cost 16 you could read commencing at line 35?
17 of new peaking capacity, coming around line of 17 ."Thereasoning raisestwo serious concerns.
18 2004 isinthe order of $100.00 per kilowatt 18 First thereis no basisto suggest that any
19 per year. Thisyields an annual evaluation of 19 costswould haveto beincurredto replace
20 approximately 6.5 million per year, for the 20 this generation in 2004 if it were not already
21 total of 64.5 megawatts generation assets on a 21 inservice. Aswith the GNP generation, the
22 GNP, Doyle's and Burin Peninsula radia 22 Island Interconnected LOLH only increases from
23 systems. As indicated in Table 3.3, the 23 1.1 hours per year to 1.4 hours per year.
24 removal of these assets from the existing 24 Thisis still well below the target maximum of
25 system capability would advance the timing of 25 2.8 hours per year; second, the ascertain that

Discoveries Unlimited Inc., Ph: (709)437-5028

Page 113 - Page 116




October 23, 2003

Multi-Page™ NL Hydro's 2003 General Rate Application

Page 117 Page 118
1 MR. HAYNES: 1 served auseful and valuable purpose, but in
2 the 14.7 megawatts of capacity would have to 2 the context of the generation that we have
3 bereplaced at acost of 1.47 million to the 3 available right now, which is aready
4 systemis incorrect. Hydro has previously 4 interconnected which is used and useful, there
5 contracted with Abitibi Stephenvillefor 46 5 was no reason to consider extension or
6 megawatts of capacity over threetimes the 6 entering anew contract with Interruptible B
7 capacity made available to the GNP generation, 7 products from any sources.
8 for acost of lessthan 1.47 million per year, 8 (12:15p.m.)
9 for essentially the same function.” 9 Q. Thank you. | wanted toturnto the second
10 .Now I'll get you to stop there. And my 10 part of, | guess, the test or the study
11 purpose in taking you to thiswas to give you 11 assignment that the Board made in 2002 in
12 an opportunity to react to that passage, and 12 P.U.7 relating to the conditions and operating
13 in particular, the ascertain made by 13 scenarios under which the GNP generation would
14 InterGroup that the availability of 14 give benefit to the operation of the lsland
15 Interruptible B hasn’t been considered in your 15 Interconnected System. Welooked at that a
16 analysis and how do you respond to that? 16 moment ago from P.U. 7, remember they wanted
17 . No, it was not considered, the Interruptible B 17 the reliability assessment and also an
18 contract was entered because it was a 18 assessment of the conditions and operations--
19 significant number of years between LOLH 19 operating scenarios. And | understand and |
20 criteria violation, if you will, and the 20 won't cover the ground in any detail, that
21 energy balance. It's also not the same 21 there redly aretwo examples that Hydro
22 product. The Interruptible B had severe 22 cites, one of an actual commissioning and one
23 limitations on the months it was available, on 23 of atesting of the GNPto assist in system
24 the hours of the day and the notice period and 24 management issues in the evidence that's
25 so, they are not--it was a useful product, it 25 before us, prior to the filing of this
Page 119 Page 120
1 Applicationin any event. Am | right that 1 the load on the Island Interconnected System
2 there's two incidents, one is a testing 2 reached anall time peak. All hydraulic
3 incident and the other is an actual 3 facilities in the three units at Holyrood were
4 commissioning incident? 4 at near peak capacity. A loss of any of these
5 . Thereis, when | see iton that,| don't 5 generators would require an operation of
6 recall the number offhand, but it does 6 standby generation, including the GNP diesels.
7 indicate that we have used it for the purpose 7 In preparation for such an event, the St.
8 that we intended; however, itistested on 8 Anthony diesel plant was tested to ensure its
9 occasion to ensureit’ s avail able and we have 9 availability. The plant operated for 110
10 used it since, in 2003. 10 minutes, during which time the approximately
11 .Now I'll take youto Ic-87 and just to 11 8536 kilowatt hours of energy was supplied to
12 copperfast on this point, | think we looked at 12 the system. On January 30th, 2003, the St.
13 this earlier, but starting at line 10? 13 Anthony diesel plant was brought on lineto
14 .Yes. 14 aid ina system restoration following the
15 .Do you have that sir? Line 10, as | 15 failure of alightening arrestor at Oxen Pond
16 understand it, this describes in perhaps the 16 and a subsequent trip of the generators at
17 greatest detail inthe material before the 17 Holyrood. The plant operated for 75 minutes,
18 Board, the incidents of use of GNP generation. 18 providing approximately 6150 kilowatt hours of
19 Perhaps you can just read that, starting at 19 energy to the Island Interconnected System."
20 line 10 to the end of the IC, so that we have 20 Q. Andthese areincidents that each occurred
21 itinits greatest detail? 21 prior to the commissioning of Granite Canal,
22 ."The St. Anthony and Roddickton Diesel Units 22 isthat correct?
23 operated for only planned and forced 23 A.Yes, that's correct.
24 transmission and line outages during the 24 Q. Andcanyou comment asto the likelihood of
25 period of 1997 to 2000. On January 31, 2002, 25 the requirement of commissioning the GNP
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1 MR. SEVIOUR: 1 basically we would have to take everything in
2 assets for generation? In similar 2 our arsenal to actually meet that load at that
3 circumstances, had Granite Cana been 3 time; particularly when you lose 466
4 commissioned before the incident described? 4 megawatts, we don’t have that reserve and it’s
5 A. That'sadifficult question to answer because 5 not an event that we--1 shouldn’t say we don’t
6 it all depends on the situation. We have used 6 plan for it, we obviously do the best we can,
7 the GNP generation since Granite Canal and the 7 but it’s not an event that would be a common
8 NUGS cameon lineto fulfil that role of 8 occurrence. And on that occasion, | would
9 trying to get our customer’ s load back. 9 suggest that Granite Canal, the NUGS, all the
10 Q. And| want to cometo that in amoment, we'll 10 gas turbines, all diesels would have been
11 talk about the September 18, 2003 incident and 11 called into play because of the nature of the-
12 | fully accept that that’s the evidence before 12 -just the volume of megawatts that we actually
13 the Board, but what I’'m trying to engage for 13 lost from the system.
14 the Board's assistanceis your view, as an 14 Q. What was the volume and megawatts?
15 experienced production person with Hydro, and 15  A.Wéll the particular itemindicated that the
16 what impact, if any, you feel that Granite 16 three plants in Holyrood a near peak
17 Canal’s availability may have had on the 17 capacity, which would have been approximately
18 circumstances described in January 31, 2002, 18 465, 466 megawatts, and if they were--I
19 January 30, 20037 19 suggest they weren’t necessarily on the pins,
20 A.ltwould all depend on the load situation at 20 but you were at, at |east 460 megawatts, 450,
21 the time and what particular units were out of 21 460 megawatts that we had actually lost.
22 service. When, inthat particular event, in 22 Q.And my colleague, Mr. Hutchings, asked you
23 January 30th, we basically lost the three 23 some questions about the September 18th, 2003
24 machines in Holyrood, | believe, in which case 24 incidents and I’m not going to take you back
25 that's Granite Canal, the gas turbines, 25 through that, but the one thing | would like
Page 123 Page 124
1 to get from you is an undertaking to provide 1 things, any time that we have atransmission
2 further particularsas to that particular 2 line outage or that we are responding to a,
3 event and the requirement of engaging the GNP 3 you know, astorm, wind damage or an outage,
4 transmission a that particular event. 1'd 4 we would actually bring thoseinto play for
5 like to know the time at which the generation 5 local support of load, as opposed to
6 supply occurred, the duration for which that 6 interconnected.
7 generation supply occurred, the relevant 7 Q. And could you provide that updated figure
8 capacity and energy that was engaged to assist 8 please (Undertaking)?
9 at that time. (Undertaking). And| think 9 A Yes
10 that’ s relevant for the Board to know. And 10 Q. Thank you. Mr. Haynes, isit fair to conclude
11 so, Mr. Haynes, is that something that you can 11 from thisreview that the principle role of
12 get for me? 12 the GNP generation has been for back up or
13 A. That information can be made available, yes. 13 local support in the GNP area?
14 Q. Thank you, sir. Tofinishupinthisares, | 14  A. It has served that function, as well as serve
15 wanted to confirm that | think asit is before 15 the function of the Island Interconnected
16 the Board in 1C-235, that the Great Northern 16 System by itscalculation of theLOLH. It
17 Peninsula generation has, apart from the three 17 serves both purposes.
18 examples we have just spoken about, operated 18 Q. Andit served the Island's specifically, the
19 112 timesfor local load support since 19967 19 Island’ s system on three particular incidents
20 Isthat what | take from 1C-235? 20 that we' ve canvassed in some detail and 112
21 A.Yes, that's correct. 21 plusincidences of the local support, as |
22 Q. Thank you, sir. And do you know if that--this 22 understand theC 1 just took you to, and my
23 isanIc that was filed some months ago, do 23 questionis, is it fair to characterize the
24 you know if that figure has changed? 24 GNP generation’s function and service
25 A.Inadl likelihoodit haschanged by a few 25 principally as one of backup to the GNP area,
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1 MR. SEVIOUR: 1 to Newfoundland Power?
2 as opposed to serviceto the grid? 2 A Yes, if werequest--I'm sure that Newfoundland
3 A.lt has served that role because of its 3 Power use it many other timesfor their own,
4 location on the radial system, but it still 4 you know, reliability purposesin their region
5 contributes to the overall LOLH and that part 5 when they’'re doing work, but whenever we
6 of that calculation, but you're - 6 request Newfoundland Power to run thermal
7 Q. Soisityour evidence, sir, that thereisan 7 generation, we do pay for that use.
8 equal benefit tothegrid andto thelocal 8 Q.| wantedto speak briefly about the cost
9 area based on the actual service of the GNP 9 implicationsin this area, Mr. Haynes, and |
10 generation since ' 96? 10 wanted to take you to 1C-277. This relates to
11 A.It's our evidence that the GNP generation 11 thetotal of 1.4 million costsfor Hydro's
12 serves a validrole in meeting our LOLH 12 diesel generation on the Island Interconnected
13 criteriaand aswell, it also servesthe local 13 System for the 2004 Cost of Service. Andin
14 residents because of the long radia line. 14 reading IC-277, together with 1C-278, | have
15 Q.| think we'll let the numbers deal with that. 15 concluded and | would ask you to confirm, that
16 | just wanted to finish thisarea by taking 16 the 1.4 million dollarsrelated to the Hydro
17 you to 1C-188,and as | understand it, Mr. 17 diesel generation, relates exclusively to the
18 Haynes, thistable that we see on 1C-88 (Sic.) 18 GNPdiesel generators? Can you help meon
19 identifies all incidents from 1996 when 19 that?
20 Newfoundland Power generation was operated by |20  A. Yes, that appears to be correct. We do not
21 Hydro' s request for support of agrid, isthat 21 have diesel generation in other locations of
22 correct? 22 any consequence, other than the GNP. |
23 A. That’scorrect. 23 believe that’s in Schedule 2.
24 Q. Andthese are incidencesin which Hydro has 24 Q. Andsothat isthe cost implications of the
25 actually paid for peaking generation support 25 plant that’s in service for GNP generation,
Page 127 Page 128
1 excluding the mini hydro at Roddickton, is 1 rural deficit. If it's assigned rural, then
2 that correct? 2 the cost of the operation of the GNPwould be
3 A That would be the--yes, that’s correct. 3 apart of a deficit and Newfoundland Power
4 Q. And to close the loop on the cost 4 customers would pay through the deficit, which
5 implications, can | get you to go to 1C-233, 5 issaysthereonline 9.
6 and | think that as| understand this IcC, 6 Q. Because Newfoundland Power has got to pay for
7 which has directed theinitial costs to the 7 thiswhether or not it'sassigned to Hydro
8 Industrial Customers and the implications for 8 rural or to common?
9 Newfoundland Power, the assignment of GNP 9 A. Newfoundland customerswill pay in either
10 generating assetsto common resultsin an 10 case, yes, Newfoundland Power customers.
11 increase to Newfoundland Power of $11,830.00 11 Q. Mr. Haynes, can you confirmthat the GNP
12 and to the Industrial Customers of $191,136.00 12 generation is insufficient to satisfy the full
13 after rural deficit and revenue credit 13 GNP load in normal operating conditions?
14 alocation. And can you confirm that? 14 A.Yes, | believethat’'s correct.
15  A.Yes, that iscorrect. 15 Q. Thank you. And finally, taking you to 1C-234,
16 Q. And why isthe implication of this cost 16 | just wanted to confirm that if therewasa
17 reassignment of sucha minimal impact to 17 reassignment of the GNP generation assetsto
18 Newfoundland Power, do you know? 18 common, that thishas an implication of an
19 A.lthink if you wereto look at the actua 19 additional $44,986 in return on equity to
20 calculation where it was done you would find 20 Hydro?
21 that before the deficit alocation the cost to 21  A.Thatisacalculation done by Mr. Banfield's
22 Newfoundland Power would be considerably 22 group, but to my knowledgethat is correct
23 higher, because Newfoundland Power customers |23 because it’s a return equity that we would be
24 will pay--when you assign the transmission 24 earning aswell.
25 line common, it would not beapart of the 25 Q. I’mgoing to finish my cross-examination by
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1 MR. SEVIOUR: 1 generating facilities at the boot, the foot of
2 talking about the Burin transmission line. 2 the peninsula, is that what we're seeing on
3 And | think that your recommendations are that 3 the map?
4 the Burin transmission lines, unlike the 4 A That'scorrect. The hydro stations and their
5 Doyle' s/Port aux Basques and the GNP 5 gasturbine.
6 transmission facilities are to be assigned to 6 Q.Now, as | understand the evidence, the
7 common? 7 transmission line 219 is a newer transmission
8 A.Yes, thatiscorrect, asthey are now. 8 ling, isthat correct?
9 Q. Now, there are no Industrial Customers on the 9 A.Yes, that'scorrect.
10 Burin Peninsula, is that correct? 10 Q. Andinterms of therelative valuations for
11  A. Thereare no Industrial Customers, no. 11 Cost of Service purposes the transmission line
12 Q. Thetransmission facilitiesin question do not 12 219 is amuch more expensive transmission line
13 serve any of the Industrial Customers of 13 than 2127?
14 Hydro, isthat correct? 14 A.l don't know the numbers, but I’'m quite sure
15  A. No, they don't. 15 that you’ re correct, the newer line would be
16 Q. Can|l get you to turn up page 6 of GRH-3which 16 the higher per kilometre cost.
17 isthe map showing the Burin lines? We see 17 Q. Okay. And | won't takeyoutoit, butinic-
18 them depicted ingreen running down from 18 334 the average plant of service for
19 Sunnyside, transmission line 219 and 212? 19 transmission line 219 is shown to be
20 A.Yes 20 $14,199,201 versus transmission line 212 which
21 Q. And the Paradise River hydro station which is 21 isat an average plant in service valuation of
22 Hydro's 8 megawatt station is on transmission 22 $5,105,326. Does that sound about right?
23 line 212? 23 A.Yes
24 A.It'sconnected to 212. 24 Q. Now, can you confirm that transmission line
25 Q. And we see some additional Newfoundland Power 25 219 was not constructed to service the
Page 131 Page 132
1 Paradise River plant? 1 there. | think -
2 A.No, it would not have been constructed to 2 Q. Andof the two transmission lines, arethey
3 service the Paradise River plant, per se. It 3 served by both or by only one of the
4 was constructed to service the Burin Peninsula 4 transmission lines?
5 system. 5 A.Wadl, you could say that they’'re served by
6 Q. And canyou confirm that it’s not a necessary 6 both because if the line TL-212 isout of
7 transmission lineto interconnect Paradise 7 service between Paradise River and Sunnyside,
8 River to the grid? 8 the power would actually go down rather than
9 A.Paradise River could have been connected to 9 come back up. So, you know, both lines
10 the grid without it, but it does serve arole. 10 actually serve all the customers on the Burin
11 It's an aternate route for Paradise River and 11 Peninsula.
12 the other generation on the Burin Peninsula. 12 Q. Okay. Physically inrelation to the two lines
13 But it would not have been required solely for 13 how are the Hydro rural customers supplied,
14 Paradise River. 14 are they supplied physically from distribution
15 Q. It certainly wouldn’t have been constructed or 15 from 212 or from 219?
16 designed as a backup, for example, to be able 16 A.Youknow, transmission TL-219basically is
17 to supply Paradise River generationto the 17 from Sunnyside to Salt Pond with no
18 grid? 18 intermediate station, so it would come off the
19  A. Not for 8 megawatts, no. 19 stations along TL-212.
20 Q. No. And--thank you. The Hydro rura 20 Q. Sophysicaly theHydrorural customersare
21 customers on the Burin Peninsula, how are they 21 supplied from 212, isthat right?
22 served, which line services them? 22 A.The shortest physical route to the system
23  A.They are served from, | believe it's 23 would be through 212, yes.
24 Monkstown. There'sa--they are low voltage 24 Q.| wastrying to get asense, then, from
25 linesthat come off one of the substations 25 Hydro' s evidence, as to what was the principal
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1 MR. SEVIOUR: 1 serviced by the transmissionlines. Butin
2 basis for the proposed assignment to common of 2 your evidence of the 21st of October, and
3 the transmission lines because there are two 3 perhaps| can get Mr. O’ Reilly to pull that up
4 reasons expressed in the evidence and in your 4 in fairnessto you, | took it tobe the
5 testimony before the Board, one being that the 5 generation concern which was the dominant
6 Burin transmission line service to customers, 6 driver of the recommendation. And I’ m looking
7 that’ s Newfoundland Power and Hydro rural, the 7 at page 21 of your evidence of October 21,
8 second reason being that the transmission 8 2003. And hereyou're addressing questions
9 lines interconnect significant generation to 9 from Mr. Kelly about the assignment of the
10 thegrid. Whichisthe principal driver of 10 transmission lines. And at line 19 of page 21
11 your recommendation? 11 you say, "So in the whole, we have proposed
12 A. Wdl, they are both drivers. The guidelines 12 that the Burin Peninsula, because it serves
13 that we had established was that if it serves 13 two customers, because it has significant
14 two customers, it would be common, two or more 14 generation, and significant generation | think
15 customers it would be common. And we 15 is the key that it should be considered
16 interpret or we feel that the significant 16 common." And | want to, you know, ask you, do
17 generation on the Burin Peninsulaisa lot 17 | take from that, that you see the
18 more significant, if you will, than the GNPin 18 interconnection of generation from the Burin
19 Doyle's/Port aux Basques. So it's a 19 Peninsulato be the principal reason for your
20 combination of both. 20 recommendation that generation on Burin be
21 Q. Okay. And my question arises partly because 21 assigned common?
22 inall of theevidence that’'s before this 22 A.lt is a mgor reason why it should be
23 Board in dealing with the recommendation of 23 considered common, but you -
24 assignment to common the first reason cited is 24 Q. Butyou say hereit’sthe key.
25 aways the fact of two customers being 25 A.ltisthekey, itis 34, 35 megawattsand it
Page 135 Page 136
1 isamajor component of the generation that we 1 Q. Intermsof the cost implications here can |
2 have available. 2 take you to 1C-228? And this dealswith the
3 Q. SotheBoard can look at that as the principal 3 impacts on customer classes in the event that
4 reason, can they? 4 transmission 219 was assigned to Newfoundland
5 A.lthink so. But theguidelines that we've 5 Power. Andon the schedule, column 6, my
6 established also talks about serving two 6 instructions are that the implications to the
7 customers, so it'sabalance. And in all Cost 7 idand Industrial Customers for the
8 of Service or plant allocation is a balance of 8 transmission lines being assigned common as
9 various reasons. 9 opposed to it being assigned to Newfoundland
10 Q. Andin the past when the Burin generation has 10 Power represent $231,709. Would that be
11 been assigned to common, the generation has 11 consistent with your understanding?
12 been greater on the Burin Peninsula, hasn’t 12 A. That's after the revenue credit, yes.
13 it? 13 Q. And the same analysis with respect to 1C-229,
14 A Therewasan additional 15 megawatts of gas 14 which relates to the implications of
15 turbine generation that Newfoundland Power is 15 assignment to Newfoundland Power of
16 moving to Bonavista Peninsula, yes. 16 transmission line 212. Again, in column 6 of
17 Q. Sothere's been actually adecreasein the 17 the second page, the table in that exhibit, my
18 Burin’s generation capacity sincethe last 18 instructions are that the cost implications to
19 General Rate Application? 19 theindustrial customers are $87,2977?
20 A.Yes. 14.7 megawalts, | believe, is the 20  A.Reduction, yes.
21 number. But as well, of course, the wind 21 Q.| justwanted to put a hypothetical to you,
22 turbine is expected to go in the Burin 22 Mr. Haynes. In the Burin transmission
23 Peninsulawhich will add again. But we feel 23 arrangements, if you took away transmission
24 that the 34, 35 megawattsis sufficient to 24 line 212, which| think you've indicated
25 justify its common allocation. 25 physically isthe service source for the Hydro
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1 MR. SEVIOUR: 1 anyway.
2 rural customers and is aso the 2 Q.lttakeyou toIc-339, please? And thisic
3 interconnection for the Paradise River to the 3 asks Hydro to indicate the loads for peak in
4 grid, if you took that away and you're left 4 energy and revenues arising from service by
5 with just the transmission line 212 and the 5 Hydro onthe Burin Peninsula. Separating
6 Newfoundland Power facilities on the boot of 6 sales to Newfoundland Power from sales to
7 the peninsula, how istransmission line 219 7 Hydro rural. And the figures are there and
8 with 212 removed in that scenario different 8 when we look at them and extrapol ate the loads
9 from the Great Northern Peninsula circumstance 9 to customers, we concluded and it’s been filed
10 whereyou're got along radial transmission 10 with our experts that 99.5 percent of the load
11 line and remote generation? 11 and therefore the customers on the Burin
12 . The--one of the major thingsis the fact that 12 Peninsula are Newfoundland Power customers and
13 the generation is so much more on the Burin 13 0.5 percent of theload and therefore the
14 Peninsula. It'sa significant amount of 14 customers on the Burin Peninsulaare Hydro
15 generation, it's 34 megawatts today, possibly 15 rural customers. And canyou confirm that
16 increasing by 25. | would--one caveat there 16 that's afair anaysis?
17 isthat given that you have aline going by, 17 A Ifit's99.5 percent of the energy sales, I'm
18 if wewereto build Paradise River and there 18 not sure about the number of customers, but
19 was a 138 kV line going by, we would have to 19 the energy deliveries, those would be the
20 actually cut into that lineat significant 20 right numbers, 99 and a half and point five.
21 additional cost aswell, which would increase 21 Q. But that's consistent with your understanding
22 that component to--because you would be going 22 isthat inrelationto Newfoundland Power’'s
23 intoa 138 kV line and haveto establisha 23 presence on the Burin Peninsula Hydro's
24 terminal station and so on, which was--which 24 presenceisreally negligible?
25 would add to the cogt, if you will, of common 25 A.Wel, it's ahalf percent of the energy
Page 139 Page 140
1 deliveries are Hydros. 1 that connection?
2 Q. Andwhy doesthat situation remain asitis, 2 A.Not currently. Therewas some discussion in
3 why is there not a situation where 3 the Energy Policy Review along those lines,
4 Newfoundland Power isservicing all of the 4 but that was more of alarger issue. We have
5 customers on the Burin Peninsulaiif there are 5 not had any dialogue with Newfoundland Power
6 so few or such little load being served by 6 on these assets to any great degree.
7 Hydro? 7 (12:48 p.m.)
8 . We have not discussed turning assets--you 8 Q. Okay. | just hada couple of more questions
9 know, like changing the assets with 9 to finish on this--finish period, Mr. Haynes,
10 Newfoundland Power, as such. Newfoundland |10 you'd be happy to hear. But | wanted to take
11 Power does assist on emergency repairs and so 11 you to page 124 of JRH-3. We're back to first
12 on, but we have actually not exchanged assets. 12 principals now with the guidelines for
13 But they do contribute, we do work together to 13 assignment. And welooked earlier at the
14 serve those customers. 14 Hydro rural sub-transmission guideline which |
15 . | think that there’sa joint NP/Hydro report 15 think you told us was another basis for proper
16 and study on what those common efforts are, 16 assignment of GNP transmission to Hydro rural.
17 and they’re related to emergency service, as| 17 And then we have NP-IC sub-transmission. And
18 understand? 18 that’s defined astransmission and terminal
19 . Primarily emergency or switching, as well. 19 station plant which serves both Newfoundland
20 They have some people in the area. 20 Power and an Industrial Customer but not Hydro
21 . But if | understand you correctly, there’'s no 21 rural and has an original cost of at least two
22 businessinitiative or consideration within 22 percent of the total transmission and terminal
23 Hydro of divesting itself of these very few 23 stations costs.
24 Hydro rural customers on the Burin Peninsula 24 A.Yes.
25 or any discussions with Newfoundland Power in |25 Q. And that’s another guideline for assignment of
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1 MR. SEVIOUR: 1 would appear that this factor would only lead
2 plant which falls within the guideline to only 2 toajoint NPrural alocation with no basis
3 Newfoundland Power and Industrial Customers. 3 to assign any costs toic. And| thinkin
4 |sthat correct? 4 substance, what | take from the InterGroup
5 A. That'scorrect. 5 advisors, the Industrial Customersis saying,
6 Q.| wanted to give you the opportunity to react 6 well, look, why isn’'t the Burin transmission
7 to acomment of our experts which isfound at 7 assigned as an NP Hydro rural sub-transmission
8 Tab H, page 3. And we're at page--page H-3, | 8 alocation. Maybe you could respond to that?
9 think isat the bottom of the page, Mr. 9 A.Thereisno category asthat at the moment,
10 O'Reilly, it's Tab H, page H-3. It'sacouple 10 and | guess between that and the significant
11 of--it' ssome of the second or third last 11 generation, we don't really think it is
12 line--last page in the whole document. There 12 warranted to do that. | grant you, it isa
13 we go. Okay. Line 11 there on the page under 13 small part of the load, but the generation is
14 the heading "Burin Peninsula Transmission 14 al so--cannot be discounted in that decision.
15 Allocation." And our experts are commenting 15 Q. So, Hydro has never considered a hydro NP sub-
16 on the proposed assignment to common of the 16 transmission allocation or assignment of plant
17 Burin transmission. Line 11 they say, "Hydro 17 guideline of this nature?
18 has proposed in Exhibit JRH-3 that the Burin 18  A. Notin recent timethat I'm aware of, no.
19 Peninsula be assigned to common thesameasin |19 Q. Just on the wind power project, Mr. Haynes,
20 P.U.7 (2002-03). However, the primary basis 20 canyou confirm acouple of things for me?
21 for this recommended all ocation appearsto be 21 There currently is no power purchase
22 that theline services both NP and rurd 22 agreement, isthat correct?
23 customers. However, based on other tests for 23 A. Weare negotiating a power purchase agreement.
24 NP-IC sub-transmission assets, given that the 24 Q. One has no yet been signed?
25 system makes up a material asset value, it 25 A.No.
Page 143 Page 144
1 Q. And what about the financing for the project, 1 system.
2 isit place, do you know? 2 Q. Okay. So, it'snot physically connected to TL
3 A.No, it would not be in--actualy, the 3 219 or TL 2127
4 financing would not be--we would not finance 4 A Waéll, indirectly, but I'm not quite sure St.
5 the project. The project would be financed by 5 Lawrence would be alittle bit further down
6 the proponent. We would just be a purchaser. 6 there.
7 Q. Yes, butto your knowledge, is there any 7 Q. My final question, Mr. Haynes, relates to your
8 financing in place for the proponent? 8 common plant assignment of the Coney Arm line
9 A.lreally am not sure of what Newind has done 9 and substation which s, | think, shown on
10 todate. | would add that they, from the 10 Schedule 17 and | think that there's aniC
11 point of view of that, that they are--one of 11 filed on this, 1IC 226. The question iswell,
12 their partnersis a corporation who has other 12 "why isthelineand substation to Coney Arm
13 wind turbine projects. So, | would not 13 assigned as common”? And the answer is, "the
14 anticipate that being an issue from the point 14 line and substation to Coney Armis assigned
15 of view of them being able to finance the 15 common becauseit is asource of station
16 particular job. 16 service for the Cat Arm generating station and
17 Q. The physical interconnection for the wind 17 also connectsthe Rattle Brook generating
18 power project, what transmission line will be 18 facility to the system”.
19 utilized? 19  A. That'scorrect.
20 A. My understanding right now is that, well, it 20 Q.Couldyou just elaborate onthis? Hasthis
21 will be interconnected in St. Lawrence and the 21 been assigned common in the past cost of
22 cost of the interconnection facilities to the 22 service?
23 existing system will be a contribution to any 23 A.Yes | believeit has, prior to Rattle Brook
24 construction by the proponent to Newfoundland 24 because itis the primary station service
25 Power, infact. It'sconnected in their 25 supply for Cat Arm. So, it’'s a necessary
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1 MR. HAYNES: 1 understood that | was going to get a

2 component or addition--if you never had that, 2 recal culation of the number. | explained to

3 you would have had to have some, | don’t know 3 him at the time that | couldn’t reproduce his

4 what the numbers are, but some significant 4 2996 number and he was going to recalculate it

5 cost at the Cat Arm station. It'saso a 5 for me. So, | don't necessarily haveto get

6 radial line. So, if the line isout of 6 that number right now, but just to note that

7 service, you still need diesels or power 7 that’ s outstanding.

8 supply to prevent freezing and et cetera. 8 GREENE, Q.C.:

9 Q. Andl takeit that thisis not a change - 9 Q. Wehad planned to provide that in re-direct or
10 A.Npo, it'snot achange. 10 Mr. Haynes can do it now, but we are in the
11 Q.- proposed from previous assignment of that 11 position to respond.

12 facility? 12 HUTCHINGS, Q.C.:
13 A.Yes, andthe Rattle Brook would have had 13 Q. Okay, aslong asit’s being addressed in re-
14 another rationale for that assignment. 14 direct, that’s fine, Mr. Chair.
15 Q. Thank you, Mr. Haynes. Mr. Chairman, that’s 15 CHAIRMAN:
16 the extent of my questions. 16 Q. Thank you. Good afternoon, Mr. Kennedy.
17 CHAIRMAN: 17 MR. KENNEDY:
18 Q. Thank you, Mr. Seviour. Thank you, Mr. 18 Q. Good afternoon, Chair.
19 Haynes. 19 CHAIRMAN:
20 HUTCHINGS, Q.C.: 20 Q. There ssome prospect, | think, discussed at
21 Q. Mr. Chairman, just before we conclude, there 21 the break about possibly finishing today. |
22 was a point that | asked Mr. Haynes on Tuesday 22 don’'t know whether that’ s non-existent or that
23 about the production capabilities of Holyrood 23 prospect still holds true. How long would you
24 and while the word undertaking wasn't used at 24 -
25 page 156 of thetranscript at line 19, | 25 MR. KENNEDY:
Page 147 Page 148

1 Q. lwould say that’'sdim and none we'll get 1 Q. Andthat's whenyou joined Newfoundland and

2 through and all done by 1:30. So, | was going 2 Labrador Hydro as a graduate engineer?

3 to propose that | just continue and then if 3 A Yes

4 I’'m not finished, just break at 1:30, if 4 Q. Now, the next paragraph refersto the fact

5 that’ s okay. 5 that you held anumber of positions with Hydro

6 CHAIRMAN: 6 including Instrumentation Engineer on the

7 Q. If you could concentrate on the slim part, it 7 construction of Holyrood No. 3 generating

8 would be good (Laughter). Thank you. 8 unit.

9 MR. KENNEDY: 9  A.Yes, that's correct.

10 Q. Yes, | aways seem to get the woolly headed 10 Q. Now, as | understand it, when Holyrood was
11 witnesses and woolly headed participants 11 initialy built, therewere two units that

12 (Laughter ). 12 were put in servicein 19707

13 A.There's no wool on my head, Mr. Kennedy 13 A.Yes

14 (Laughter ). 14 Q. And then there was athird unit that got added

15 Q. Mr. Haynes, | wanted totalk toyou about 15 in 19747

16 system planning, in general, asit falls under 16 A.1979/1980 time frame, No. 3 was built.

17 your division. And | thought that first I'd 17 Q. Okay. Well, you need to update your website
18 liketojust have achat with you about the 18 there. Y ou website says 1974.

19 Holyrood generating station. 19 A.That may have beenwhen it started, but it

20 A.Yes 20 wasn't actually finished until--actually it

21 Q. And | notice from your pre-filed evidence that 21 was probably more line’ 77 was started.

22 it indicatesthat, in your profile, that you 22 Q. That'swhat was confusing me with the 1977 and
23 received your Bachelor of Engineering degree 23 then the indication that your positions were

24 in 1977. 24 with No. 3. So, Mr. Haynes, when Holyrood was
25 A Yes | did. 25 originally constructed in 1970 with these
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1 MR.KENNEDY: 1 A. Well, there would have been a couple of roles
2 initial two units, and | understand those two 2 actually. Primarily it would have, you know,
3 units were 150 megawatt units, correct? 3 there were probably three significant roles.
4  A.That'scorrect. 4 One of them would have been abackup, if you
5 Q. Andthen thethird unit wasa 150 megawatt 5 will, to the Avalon Peninsulawhere most of
6 unit? 6 the load was. And basically what had--when a
7  A.That'scorrect. 7 system was initiated, we built aBay D’ Espoir
8 Q. And then there was some changes made to your 8 generating station and there was two or three
9 system which bumped up the mega wattage 9 stages of construction for Bay D’Espoir and
10 available from each of those units, correct? 10 the Holyrood units 1 and 2 came aong about
11 A. Only from numbers1 and 2. Number 3 did not 11 thesame time. And with the transmission
12 have the ability to be upgraded in the same 12 system being built across the wilderness area
13 sense as units 1 and 2. 13 and itsreliability concerns et cetera, that
14 Q. Right, okay. So, originaly, the total 14 that particular plant wasback up, if you
15 capacity of Holyrood was 450 megawatts and now 15 will. It also provided some voltage control
16 its 490 megawatts? 16 capability, particularly in the winter. You
17  A. That'sthe gross rating, yes. 17 would not be able to ship, you know, all the
18 Q. Right, okay. So, when Holyrood was originally 18 megawatts from Bay D’ Espoir to meet the Avalon
19 constructed and put into service in 1970 with 19 load without a lot--some voltage support
20 those 2 units, could you tell me from your 20 equipment on the east coast and that would
21 experience in coming on board in 1977, what 21 have also served that purpose. But | don't
22 the purpose of Holyrood was at that point in 22 know the actual justification or the criteria,
23 time? What rolewasit supposed to servein 23 that waslong beforemy day. And | don’'t
24 your system? 24 know what the rationale was, but those would
25 (1:00 p.m.) 25 be, you know, major considerationsat the
Page 151 Page 152
1 time, when they were building the grid and 1 know, a sustained and very--the .6 percent
2 anticipating a fair load growth, you know, 2 growth that we spoke about this morning would
3 expansion of electrical sales. 3 have been quite different at that particular
4 Q. So, areyou aware then of when, at thetime 4 time.
5 that the Holyrood generating station was 5 Q.S0, I've seen it referred to sometimes,
6 brought on stream, was Hydro'sfirm energy 6 Holyrood that is, as, that originally
7 requirements, were they able to be met through 7 conceptualizes as awinter peaking plant in
8 just the hydraulic resources that Hydro had at 8 that Holyrood was used to provide your
9 thetime? Areyou aware whether Holyrood was 9 capacity requirements, if you will, during the
10 required in order to addressthat aspect of 10 winter months when the load is higher than
11 your system? 11 otherwise.
12 A.I'm not sure of the numbers, but| would 12 A.l think if you go back in time, the
13 suggest that thereserve that wasin place 13 utilization of Holyrood in the summer months
14 when Bay D’ Espoir and units No. 1 and 2 were 14 would have been alot less than it istoday.
15 commissioned would have been in excess of what |15 So, there may have been--you know, the
16 itistoday, but | don’t know the numbers. 16 operators at the time would still optimize on
17 Q. But prior to unitsNo. 1 and 2, wasjust the 17 fuel price and so on or they would shut down
18 hydraulic resources up to that point 18 at whatever occasion they could. The
19 sufficient to address your firm energy 19 operating history in the last number of years
20 requirement. Areyou aware of that? 20 isthat we operate the plant more hours per
21 A.l would suggest that it was, but therewasa 21 year generally than, | would suggest, in the
22 tremendous growth. The mandate of 22 '70s or the '60s, mid ' 70s.
23 Newfoundland Hydro, when it was created, was |23 Q. Counsel for Newfoundland Power during his
24 to look after the rura ratification, to 24 examination of yourself eluded to the fact
25 interconnect these systems so there was a, you 25 that load patterns have changed and noticeably
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1 MR. KENNEDY: 1 requirements and we do what' s called a hydro-
2 during the’90s. And | guess | took it from 2 thermal split. And so webasically do our
3 that that it’sindicative then of the fact 3 load forecast and projections of Holyrood use
4 that Holyrood itself is being used differently 4 based on that. And that is, you know,
5 now, than it wasin ’80s and ’ 70s? 5 basically the hydro-therma split is not
6 A.Wdl, Holyrood isbeing used morein asense 6 revised every week, but the load forecast and
7 that there are less summers months, there's 7 load requirements are revised every week and
8 weeksin the summer that we can shut down. 8 wetry to optimizethe megawatt levels of
9 But it's basically, where all our short term 9 Holyrood to be ashigh as we can while
10 marginal energy come fromis Holyrood and it 10 adhering to our other system conditions. And
11 isrequired for capacity in the winter. 11 if we get aninflux of rain, then wewon’t
12 Q. Sure. Andl understood that, if I gather 12 shut Holyrood down because we think it's a day
13 correctly, that Holyrood, in away amost uses 13 or two, but if we see aweek or aperiod of
14 your base plant now, that it--except for this 14 time that we can shut it down, then we will do
15 duration during the summer that it’s used to 15 that.
16 provide your base load for the duration of the 16 Q. During the winter period, just take for
17 year. 17 instance, as | understand it, you would
18 A.It'sakey component of a system, yes. 18 normally operate Holyrood at as close to full
19 Q. So, inthecaseof your Hydro resources, for 19 capacity asyou can?
20 instance, you referred to the fact that you 20 A.Wewould make it as high as we can while
21 use your hydraulic produced product in order 21 looking at the overall economics, yes.
22 to address capacity constraints and that 22 Q. Sure. And that the problem, asyou said, is
23 Holyrood itself is used to produced energy. 23 that if you run a system like Holyrood to the
24  A. Whenwedo theload forecast, for instance, 24 pins, as you described it, that it doesn’'t
25 for 2004, we look at our total energy 25 provide much leeway to address further
Page 155 Page 156
1 capacity requirements or as you put it, 1 Q. Okay. Let'sgoto, let’ stake the example of
2 voltage issues that may arise asaresult of 2 arunintheriver system. A runintheriver
3 that, correct? 3 IS pure energy, no capacity.
4 A.Yes, and frequency regulation, yes. 4 A.Well, there is some capacity.
5 Q. And so that aspect of maintaining your system 5 Q. Margina or minimal amount of capacity.
6 then shifts over to your hydraulic capacity. 6 A.Depending on thesizeof the plant, it al
7 Y ou use your hydraulic capacity as an add on, 7 factorsinto the equation and into the -
8 if needed, at the point that Holyrood is going 8 Q. There'susually little or not storage that you
9 flat out. 9 can count on. So, it'smostly energy that you
10 A.The variation of the loading on say, Bay 10 look at arunintheriver system for.
11 D’ Espoir over a 24-hour period would be quite 11 A Thereisacredit in the system to look after
12 varied compared to Holyrood. Holyrood may 12 it, but it'snot as use and useful from that
13 change some, but the Bay D’ Espoir hydro plants |13 point of view as asystem with alot of
14 would change quite a bit. 14 storage.
15 Q. Okay. 15 Q. Okay, but in the case of Bay D’ Espoir, we have
16 A. And we may shut down units and bring on units 16 both capacity and energy provided through Bay
17 asrequired, but we would not treat Holyrood 17 D’ Espoir, correct?
18 the same way. 18 A. Most of our hydro plants have afair bit of
19 Q. So, in that sense, is Bay D’Espoir and you 19 storage, yes.
20 hydro unitsthat isthe storage of water in 20 Q. Right. Andso, | guesswhat | was getting at
21 the watershedsis, in that sense, treated as 21 isduring your winter months, when you have
22 your capacity and that thewater actually 22 Holyrood running at, you know, amost full
23 running through your system is what's 23 capacity, that you're using your capacity in
24 providing the energy? 24 Bay D’Espoir in your other hydraulic to
25  A. The--say that again? 25 provide that extra capacity, if needed?
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1 MR. HAYNES:

© 00 N O o~ WODN

A.Yes, but also, if you go back to Schedule 4,
we also try to run not too far ahead of that,
whatever linethat is.

Q. Thegreenline.

A. The greenline, yes. We don't want to be too
far ahead of that because risk spill.

Q. Right.

A. And then we obviously do not want to spill

© 00 N o ok~ WODN P
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and how it's used by Hydro has changed over
the last couple of decades? It's gone from
itself being used as, sort of, that peaking
capacity filling requirement in your system
especially in the winter monthsto now that
capacity filling requirement that you havein
the winter months being shifted over to your
hydraulic end of your business.

A.I'mnot sureif | would put it that way. |

10 water. 10 think the last twenty so years, | mean, we
11 Q. So, inthe case whereit looks like that may 11 basically plan--we plan Holyrood to,
12 have been, you'd cut back on Holyrood 12 particularly since the’90s, for 25 percent
13 production in order to produce more hydro 13 incapability factor to protect our firm. And
14 energy. 14 it'sa critical component of our portfolio.
15  A.Yes, wewouldn’t keep Hydro at--1'm sorry, we 15 It's not--I don’t think you can actually treat
16 wouldn't keep Bay D’Espoir at--I'm sorry, 16 it much different. Theway weload the plan
17 Holyrood at 150 megawatts or 170 megawattsor |17 ismost due to economics. It's acritica
18 if we're going to risk spilling water. 18 part of the whole.
19 Q. Right. 19 Q. Yes sol guess, that was the next point is
20  A.Youknow, wewould--actually, it’sthe other 20 assuming for amoment that the way that Hydro
21 way around. We would run it up on the pinsto 21 utilizes the Holyrood plant has changed since
22 avoid spilling water. So, it'sa balance 22 thisintroduction in the’ 70s to today in the
23 between those two that we try to maintain. 23 sense of how you use it in your system
24 Q. So, isit the case then that the character, if 24 planning, your annual system planning, that
25 you will, of the Holyrood generating station 25 that was--isit fair to say that that wasn't a
Page 159 Page 160
1 policy decision, it wasa changed brought on 1 624 kilowatt hour per barrel works out to 5.13
2 through a process that was driven from just 2 cents per kilowatt hour, correct?
3 your system factors? 3 A.l believethat’sthe number, it was quoted.
4 A. | think asthe system matured and as you start 4 Q.Okay. Andthat 5.13 cents per kilowatt hour
5 to, you know, interconnect the various areas 5 is actually made up of a fuel cost which was
6 and regions that that utilization increased 6 4.7 cents akilowatt hour and then therest is
7 and you became more of a mature system, if you 7 your O & M variable.
8 will. 8 A.Yeah, therearefuel additivesthat increase
9 Q. Now, Ijust havesome points | wanted to 9 with the amount--chemical use that increase
10 clarify about Holyrood again, itself, and it’s 10 with the amount of fuel.
11 been described that Holyrood is your margina 11 Q. Whichis .45 cents per kilowatt hour?
12 cost plant, correct? 12 A. | believe that’s the number.
13 A.Intheshort term, yes. 13 Q. Okay. Now, reference has been made to the
14 Q. Your short run marginal cost plant. 14 fact that Granite Canal has a-isable to
15 A.Yes 15 produce energy at 5.5 cents per kilowatt hour
16 Q. Okay. And | understand that that’ s because of 16 to the bus bar, | believeis how Mr. Wells put
17 the fact that there’ s a high variable in your 17 it?
18 operating and maintenance for the energy that 18  A.Yes, | believe.
19 is produced by Holyrood as compared to your 19 Q. Okay. Andare wedealing with apples and
20 other plantsin the system? 20 applestherein the sense that this 5.13 cents
21 A.Yes but primarily fuel would bethe main 21 per kilowatt hour for Holyrood is at the bus
22 driver. It's primarily the cost of fuel. 22 bar?
23 Q. Right. Because the amount of kilowatt hour 23 A. | think the5.3 cents at Holyrood, | don’t
24 for energy produced by the Holyrood generating |24 think that number actually considered the
25 station at your proposed conversion factor of 25 capital cost of the plant whereas the figure
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1 MR. HAYNES:

for Granite Canal would have considered it,
and there are no significant costs with
respect to the water itself. Whereas Holyrood
isprimarily drivenby fuel, | believe the
variable O&M number was driven by fuel
additives and chemicals and so on. Whereas
Granite Canal was basically afunction of the
depreciation and interest and so on.
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equal, the higher your marginal cost is going
to become for the energy produced at Holyrood?

A. Wéll, you would have a--obviously you have the
fuel costs. You also have O&M costs, which
change a littlebit. You have employee
salaries and so on. So the dollar per
kilowatt hour would be--if you were to look at
the actual cost of producing akilowatt hour
at Holyrood and look at the fuel, the O& M, et

10 . Right. So in the case of Granite, that’sthe 10 cetera, the fact that there are 99 employees,
11 average annual energy production costs, 5 1/2 11 the less production, you know, you have the
12 cents per kilowatt hour, correct? 12 fuel coming down, you have the other costs
13 . There weretwo or three different numbers 13 going up.
14 quoted, but that’sthe order of magnitude, 14 Q. But your conversion factor usually erodesif
15 yes. 15 you produce less energy at Holyrood?
16 . Inthe case of Holyrood, that’sjust your 16 A.Yes, because you can’t get it up at these high
17 short run marginal, 5.13 cents. Do you know 17 efficiency points that we -
18 what the average annual energy production 18 Q. Soyour short run marginal cost at Holyrood
19 costs for Holyrood is, as proposed? 19 increases the less you use it?
20 . You mean considering capital and - 20 A.Yes, | think last month or two months ago, we
21 . Yes. 21 had 608 kilowatt hours per barrel because we
22 .Ithink it's lessthan six. It's lessthan 22 were low.
23 six cents, in that order. 23 Q. Mr. Haynes, intuitively, would you agree with
24 . Now there’'s also the oddity, isn’t there, that 24 me that your system is more expensive to run
25 theless Holyrood isused, all else being 25 in the winter months, as opposed to the summer
Page 163 Page 164
1 months? 1 provincein 1991, and | got these from 1C-113,
2 . Well, we'reburning more fuel then. The 2 and in 1991 we had 576,489 people and by 2001,
3 maintenance activities will betoned back a 3 that had dropped to 521,200 people. Okay?
4 bit because we're not doing overhauls and so 4 A Yes
5 on, but by and large, thereis some increase 5 Q.Andthen| looked at the kilowatt hours sold
6 in the day-to-day operating costs, 6 for each of those years.
7 particularly from afuel point of view. 7 A Yes
8 (1:15p.m.) 8 Q. Andthisisall the entire province, Labrador
9 Q. Wouldyou agreethat winter-driven capacity 9 and Newfoundland, because the population
10 reguirements are pushing cost into the system? 10 statisticsincluded both. Andthen| just
11 A. | guessthe winter-driven--as the capacity or 11 worked out a per capita consumption of
12 the demand increases, you would have to 12 kilowatt hours, and the per capita consumption
13 install more plant to meet that peak criteria. 13 in 2001 worked out to 13.21 kilowatt hours per
14 Q. Traditionally, would you agreethat Hydro's 14 person, and the per capita consumption--and |
15 new plant requirements have been driven by 15 might be off by a magnitude. I’'m not sure if
16 capacity constraints more than energy 16 I got my decimal place in the right spot, but
17 constraints? 17 it doesn’t matter because|’m just going to
18 A.They're actually driven by both, but the 18 compare the two of them.
19 major--you know, when we deliver most 19 A.Yes
20 capacity, when we deliver most energy isin 20 Q. The per capita consumption for 1991 | got to
21 the winter. 21 be 10.2 kilowatt hours per person. So it
22 Q.| wasdoing some calculations, Mr. Haynes, on 22 denotes an increase in the per capita energy
23 what the per capita consumption of energy has 23 use for the period 1991 to 2001 of 29.4
24 been in the province for the period 1991 to 24 percent, which would be, on average, 3 percent
25 2001, and | started with the population of the 25 ayear.
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1 MR. HAYNES: 1 the day is that one percent per year is
2 A.If that’'sthe math, yes. 2 because there’'s been this drop in the
3 Q. Okay. And I did thesame thing for your 3 population of the province?
4 demand on the megawatt basis. 4 A Weéll, there are amultitude of factorsthat go
5 A Yes 5 into that particular forecast, the gross
6 Q. Peak weather adjusted. And| getan 18 1/2 6 domestic product, the population is an input.
7 percent increase in the per capita demand use 7 The persona disposable income isan input
8 for the same period of time, which works out 8 into that long-term planning forecast as well.
9 to 1.85 percent per year. And I’m wondering, 9 But | mean, your numbers on the individual per
10 there’'sbeen a lot of testimony about the 10 capita consumption, | have no doubt they’re
11 forecast load growth and forecast energy 11 correct, and that’ s a statistic that’s common
12 growth and the numbersthat Hydroisusing is, 12 in many jurisdictions, in Canada particularly.
13 | think as you indicated just a few minutes 13 Q. Which dtatistic, the 3 percent?
14 ago, .8 percent for some of them or around the 14 A Thefact that the per capita consumption of
15 1 percent level for your capacity growth and 15 electricity isincreasing, asit has increased
16 your energy growth? 16 substantially over the last number of years.
17 A.Those figureswere for energy growth. | 17 Q. Okay. That'saquestion| had. Just assume
18 didn’'t actually calculate the numbers on the 18 for the moment that I’ m correct that your per
19 capacity. 19 capita consumption of electric energy has been
20 Q. Okay. But you'd agree with me clearly that in 20 at an annualized 3 percent for the last ten
21 the last ten years, your per capita growth, at 21 years. Do you know how that comparesto the
22 least based on those numbers, has certainly 22 national growth rates or the rates experienced
23 been much higher than one percent. That for 23 in other provinces on a per capita basis?
24 the system purposes, the only reason your 24 A.l don'tknow thedetail, but | do recal
25 energy growth that you’re seeing at the end of 25 reading various things, that Canadians are the
Page 167 Page 168
1 highest per capita users of electricity in the 1 conservation programs aimed directly at the
2 world or in the northern climates, and there's 2 average user in the Province of Newfoundland
3 lots of reasons put forward asto why that’s 3 and Labrador?
4 30, because of the northern climate and so on, 4 A.| guesswe have not taken it upon ourselves, |
5 but I'm not surprised at the number, but | 5 guess, to target the customers of Newfoundland
6 don't know the specifics for the other 6 Power with respect to that. Wedo havethe
7 jurisdictions. 7 programs, the HYDROWISE Program. We do look
8 Q. There'salso, | guess, wheelswithin wheels, 8 at demand side management in the isolated
9 there'salso some significant growth being 9 areas. But the biggest component of the load
10 experienced in your Rural Isolated sector of 10 growth on the Interconnected System is
1 your business, correct? 1 actually--is primarily the all-electric
12 A. Particularly in Labrador. 12 customer of Newfoundland Power. We have a
13 Q. And PUB-3, page 52, provides some of that, 13 very small number and the penetration rate of
14 just for the Panel’ s assistance. So | guess, 14 electric heat in our interconnected areasis
15 Mr. Haynes, giventhat there is again a 15 not as high as--1 would suggest that all new
16 looming capacity or energy issue that Hydro's 16 construction is primarily electric heat in our
17 going to have to deal with - 17 areas, but there'snot asmany conversions
18 A.Yes. 18 over the years and so on, as Newfoundland
19 Q.- by constructing new plant, and given that 19 Power customers. So we have not taken--we
20 that issue isarising as aresult of these 20 have not assumed that roleto bypass our
21 increases in energy use and demand requirement |21 customer to go to their customer. It isan
22 on aper capitabasis, can | ask you why Hydro 22 education thing and there were various
23 hasn’t, other than the HYDROWISE Program 23 programs by the Federal Government and maybe
24 targeted towards the rural customers, why it 24 and the Provincial Government, but we have not
25 hasn’t implemented demand side management or |25 taken charge, if you will, of that.
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1 MR. KENNEDY: 1 the generation and transmission level.” Soll
2 Q. The curiosity that | have is you've got 2 guess, sort of begsthe question, isn'tit,
3 referenced in adocument, Exhibit DWR-1, | 3 that if these growth ratesthat we've been
4 know it's not yours, Mr. Haynes, it would be 4 experiencing on a per capita basisin the
5 Mr. Reid’s, but it's a report of joint 5 province are causing these capacity and energy
6 coordination between Newfoundland and L abrador 6 constraints, and we know that effective demand
7 Hydro and Newfoundland Power, and there’'sa 7 side management programs or conservation
8 section there on generation and transmission 8 programswill at least defer when that new
9 operations. And there's afew references, for 9 plant is required, and that there's an
10 instance, page 4 under "system planning” the 10 expression at least in this document that
11 second sentence says "since the 1970s, Hydro 11 there’ s this coordination taking place between
12 and Newfoundland Power system planning staff 12 Hydro and Newfoundland Power in system
13 have met regularly to discuss the implications 13 planning, | don't understand your earlier
14 of load forecast and customer growth on the 14 reply then that well, Hydro kind of throws up
15 need for system additionsto determine cost 15 its hands because well, that’s Newfoundland
16 effective solutions and to ensure associated 16 Power’'s customers. Would not this
17 technical issues, such assystem protection 17 coordination go that next step to both
18 and under frequency load shedding are 18 yourself and Newfoundland Power trying to
19 appropriately addressed." And then over at 19 figure out how to defer plant construction or
20 page 13, under "observations and"--no, page 20 at least decrease the amount of energy
21 13. Therewego. Under "observations and 21 consumption or demand that customers are
22 conclusions' the second paragraph, "in terms 22 placing on the system?
23 of impact on operational effectiveness, the 23 A.Most of the context of that particular
24 most significant opportunities for cooperation 24 response, the document with respect to
25 between Hydro and Newfoundland Power are at 25 generation and transmission planning, is that
Page 171 Page 172
1 when we do go into an area where additional 1 environmental parameters to the design, and we
2 transmission is required or where there are 2 don’'t want to preclude any particular source.
3 opportunities for Newfoundland Power to do 3 We would like to get the most cost effective
4 certain things than us, we do look at that in 4 source for the customers and if you leaveit,
5 the planning context and try to do what makes 5 you could do a gas turbine plant very quickly,
6 the most sense for the consumer. On 6 but it’s not necessarily the cost effective
7 generation, | mean, there has been 7 way to approach it.
8 discussions, | guess, with respect to how they 8 Q. Now you'reawarethat, at least on itsface,
9 tie inand so on. Butthere's been no 9 The Electrical Power Control Act placesthe
10 discussion on, of late, on any major demand 10 responsibility of ensuring that adequate
11 side management initiatives. | think there 11 system planning is taking placeis with the
12 werein theearly 90sbut they have since 12 Public Utilities Board?
13 ceased, and | think the Provincial Government 13 A. That’scorrect.
14 as well had some kind of a committee on the go 14 Q. Okay. Andwe're aware that at least the last
15 for demand side management, which it abandoned 15 number of generation projects, the Granite
16 aswell in the early 1990s. 16 Canal, your NUGsand | understand the wind
17 Q. Mr. Haynes, you've described, bothin your 17 generation project that’s being proposed as
18 testimony throughout the last few days and in 18 well, have been exempted from the Board's
19 your pre-filed, that the new plant that at 19 jurisdiction by virtue of Ordersin Council.
20 this point in time is forecast to be required 20 You're aware of that, aswell?
21 by 2009-2010 will require planning in 2005, 21 A.Yes | am.
22 correct? 22 Q.Okay. Sobarring another Order in Council
23  A.That'sthe time framethat wewould have, 23 that would exempt again from this Board’s
24 particularly for ahydro plant, because it 24 jurisdiction, the construction of new capacity
25 takes, you know, four to five yearsto do the 25 that’ s going to be required in 2009-2010, can
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1 MR. KENNEDY: 1 meet that. Wewould review those particular
2 you tell me what Hydro’sintentions are, if 2 options. Our options that we would have
3 any, in coming forward to the Board with an 3 immediately available to uswould belsland
4 adequate amount of time prior to this 2005 4 Pond. It could be a gas turbine or combined
5 horizon for when you' re planning needs to take 5 cycle, but based on the load forecast that you
6 place to begin that process of allowing the 6 see, | doubt very much it will be--Holyrood 4
7 Board to be involved in the process as 7 would be a major player, becauseit's 150
8 required under The Electrical Power Control 8 megawatts, and you know, one terawatt hour,
9 Act? 9 which wereally don’t need at this point in
10 A.Our intentionswould be to proceed as we 10 time. It would betoo big a step increase.
11 normally would, and that is that we, as that 11 So we would eval uate our resources against the
12 2005-2006 time frame approaches, wewould re- |12 RFP resourcesand do anet present value
13 Q. Wadll, justif I could correct you, it's 2005, 13 analysis and look at all those options, and it
14 right? 14 may be a single project that we would propose
15  A. That general timeframe. Our - 15 to the Board or it may be two or three smaller
16 Q. But you werefairly specific in your evidence, 16 projects, whatever the most economic outcome
17 Mr. Haynes. 17 that meets the reliability criteriathat has
18  A.lsay 2005. Yes, 2005, okay. 18 been adopted.
19 Q. Okay. 19 Q. Sothat -
20 A.Allright. Wemay needto go and do afinal 20 A.And that would--our intention would be to
21 cost estimate for the Island Pond project. We 21 propose that to the Board for their review and
22 may go to do an RF--you know, we may--1 would |22 approval of acourse of action.
23 suggest that wewould, infact, goto the 23 Q. Okay. And that’s after your 2005 planning or
24 market, if you will, and to issue an RFPfor 24 isthat prior to your 2005 planning?
25 generation sources that may be available to 25  A. | would suggest in 2005, but we would actually
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1 start to do that exerciseto evaluate those 1 common practice because you're operating 24
2 options and we would plan to bring something 2 independent systems than we do on the
3 tothe Board in ampletime to approve and 3 Interconnected System, and they’re much
4 review and discuss and approve a project or 4 smaller.
5 two or whatever to meet that load. 5 Q. Chair, that sort of concludes that area. So
6 Q. Isthere any other new plant contemplated by 6 I’ve got just a couple of more. | shouldn’t
7 Hydro other than thewind farmin Burin, at 7 be any more than 20 minutes or half an hour at
8 this present time? 8 the most tomorrow morning.
9 (1:30 p.m.) 9 CHAIRMAN:
10 A. Not on the Interconnected System. We do not 10 Q. Okay. Thank you. It would appear, | think,
11 have anything that we are discussing or we 11 subject to confirmation, but it would appear
12 have any knowledge of that anybody is--we have |12 that the Board’ s questions will be very, very
13 various solicitations from wind turbine 13 limited too, Ms. Greene, so | don’t know what
14 proponentsfor thisand that and something 14 your redirect would take, but probably not too
15 else, but there' s nothing that’ s on the books 15 long?
16 asfar aswe - 16 GREENE, Q.C.:
17 Q. Okay. What about other than your 17 Q. No. | do havea number of questions in
18 Interconnected System? 18 redirect, but they’'re all fairly short. So
19 A. There sawind turbine going into Ramea, which |19 our intention would beto start Mr. Martin.
20 Mr. Martin can speak a bit more about, and 20 From this discussion, it would appear that Mr.
21 there are--obvioudly there are generation 21 Haynes will be finished well before the break.
22 growthsin the diesel areas where we may be 22 CHAIRMAN:
23 changing diesels or increasing the size of 23 Q. Yes.
24 dieselsand soon, andthat’'s afairly, | 24 GREENE, Q.C.:
25 won't say routine thing, butit’'s a more 25 Q. And our intention then would be to carry on
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1 GREENE, Q.C.:

2 and start with Mr. Martin.

3 CHAIRMAN:

4 Q. Soundsgood. Thank you very much, Mr. Kennedy
5 and Mr. Haynes, andwe'll see you at 9

6 tomorrow morning.

Page 178
1 CERTIFICATE
2 1,Jdudy MossLauzon, do hereby certify that the
3 foregoing is atrue and correct transcript in the matter
4 of Newfoundland and Labrador Hydro's 2003 General Rate
5 Application for Approval of, among other things, its
6 rates commencing January 2004, heard on the 23rd day of
7 October, 2003 before the Board of Commissioners of Public
8 Utilities, Prince Charles Building, St. John’s,
9 Newfoundland and Labrador and was transcribed by me to
10 the best of my ability by means of a sound apparatus.
11 Dated at St. John's, Newfoundland and L abrador
12 this 23rd day of October, A.C., 2003
13 Judy Moss Lauzon

Discoveries Unlimited Inc., Ph: (709)437-5028

Page 177 - Page 178




